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I. 
Overview

A. Introduction

1. Essence of torts: a person looking for relief via lawsuit from axn caused by s/o else

a) If liability is found, the remedy is damages

(1) suit for compensation: to put P where they would be now had the axn not occurred

(2) Diff from criminal law: no fines or imprisonment, b/c compensation to P

b) Different torts protect different interests; not everything  is actionable

c) Different torts impose diff stds of liability:

(1) Intentional torts  In tort law, intention means either 

(a) actual intent to bring about harmful result

(b) substantial certainty that that result will occur

(2) Unintentional torts:

(a) Negligence: breach of duty of care

(b) Strict liability: imposed because harm was foreseeable, even if there was no breach in duty of care

d) Absolute liability: causation-based standard.  The harm doesn’t have to be foreseeable.

2. Chart of Tort law

	Intentional
	Negligence
	Strict liability
	Absolute liability

	Intentional
	Unintentional

	Fault-based
	No fault needed


	Tort
	Interest protected
	Standard applied

	Assault: threatening eminent harm
	Emotional/mental
	Intentional

	Battery: unwanted physical harm/forceful contact
	Bodily safety/dignity/integrity
	Intentional

	Trespass to land
	Exclusive possession rights
	Intentional

	False imprisonment
	Liberty
	Intentional

	Negligence
	Life, limb, property, emotional
	Negligence

	Nuisance
	Use & enjoyment of real property
	Foresight-based s.l.

	Abnormally dangerous activities* (most imp. Is use/transportation of explosives)
	Life, limb & property
	Foresight-based s.l—exception to negligence

	Products liability*
	Life, limb & property
	Foresight-based s.l.—exception to negligence


· Every tort is defined by the interest protected and the standard applied:

· same interest as negligence tort b/ a special exception has been carved out.

3. Purposes/principles of tort law:

a) Posner: Deterrence and economic efficiency.  
(1) Use negl std and make damages to absorb externalities.  B/ there is no negl where the cost of prevention exceeds the cost of the accident x probability (Learned Hand)

(2) One problem: valuation and harms.  In Grimshaw v. Ford, the jury and Ford disagreed about the value of the loss.  The jury was outraged.  Ford’s economic calculus don’t  work.

b) Epstein: compensation for harms

(1) Either the P or the D bears the loss for a harm

(2) By making D compensate, even where there’s no fault, you at least keep completely innocent party from bearing the loss.

(3) Thus, strict liability or absolute liability should  be the std.  D should  bear the loss.  This is modern libertarianism.

(4) Thus Epstein explicitly rejects Learned Hand formula: you should  always bear the loss if you caused it, even if it was socially efficient.

c) Holmes: loss lies where it falls
(1) Loss generally lies where it falls, so we should  only make D bear the cost where there’s fault.  There’s also no moral value in imposing liability w/o fault.

d) You take your victim as you find him (Thin-skulled P applies (Vosburg, Baker))
e) Complete privilege vs. incomplete privilege to reach socially beneficial results:

(1) Not allowing an actor complete privilege (incomplete privilege/strict liability) by making him liable for the damage forces him to do a cost/benefit allowance - whether what he wants is more valuable than the harm he will inflict.  This would benefit society as a whole, rather than just benefit himself - from a social perspective he will make the best decision in the interest of everyone.  

(2) The incomplete privilege will always make him make the right choice for society as a whole, yet if he were allowed complete privilege (do whatever necessity demands) then he would always elect what benefited himself.  

(3) If you allow him incomplete privilege with reasonableness, as long as he chooses what's best for society he only has to pay for his own costs.

f) Costs of bargaining for entitlements(loss allocation)/Coase Theorem:

(1)  Regardless of the entitlement, and regardless of who has the entitlement, if the costs of our bargaining are 0, then we will still end up with the socially efficient result no matter what the legal rule.  

(2) Where the transaction costs are zero, the liability rule does not matter.

(3) Problems with Coase Theorem:

(a) The reason that the liability rule exists is that people can't effectively bargain to reach the socially efficient cost.  Transaction costs are never zero, and people do not always bargain well.  

(b) One way to think about tort law is to get us to the result that we should get to if transaction costs were zero.  It is a nice way to think about it because it puts it in the scope that it makes the result voluntary - to replicate bargaining exercises.

(4) Who should bear burden of doing calculation, given that transaction costs are not zero?

(a) Party with more information (Ploof v. Putnam)

(i) You could place the obligation to do the comparison on the shipowner, since the shipowner has the relevant information (cost of ship, cost of cargo) to make the decision, while the dockowner only knows about the dock, which is essentially the same as all the other docks.  
(ii) The allocation of the loss is done so as to take care of the typical case, but there is room for the idiosyncratic party to come forth and give notice of unreasonableness.  There can also always be bargaining, until it ends up at the least social cost.
4. Proof

a) Standard of proof: preponderance of evidence: 50%

b) Burden of proof: showing facts that are necessary to prove your case

(1) Matters when ev is in equipoise

(2) And matters b/c P has to offer proof to start the ball rolling
(3) Vicarious liability under respondeat superior is in part b/c employer is better able to prevent risks and bear costs than employee.  B/ employer i/n liable if employee is acting outside the scope of her employment.  (A growing exception is where employer s/n have hired employee in the first place—i.e. a security guard w/ a criminal record)

II. Intentional Torts

A. Battery

1. Introduction

a) Necessary elements of assault and battery: 

(1) Nonconsensual contact (does not have to be direct bodily contact) 

(2) Volitional act (intention to act) 

(3) Unlawful intent 

(4) Intended contact with some consequences - perform an act with the knowledge that a result is substantially certain to occur, although you did not act with that purpose.  
(a) The intent to harm can sometimes overcome the substantially certain requirement.
b) Damages

(1) Should damages be limited to what is foreseeable and expected rather than actual damages?  

(2) Should victim be expected to take reasonable precautions?  If Andy had bought a shinguard (less money) then it would have been better in general for society - less loss ($2500 for lost leg).  

(3) You have to balance the cost to the victim to mitigate the loss and warn others of the risk vs. the cost to the wrongdoer for liability for the actual cost of the act.  By taking some reasonable precaution to warn of the risk, then the blame can fully shift to the wrongdoer if they ignore that precaution. 
2. Objectives of Battery as a Tort

a) What is the intended right to protect with the broad definition of contact?  

(1) Trying to protect people from being bodily harmed in particular ways, which include indirect kinds of contact.  

b) What are the worthy objectives of battery?  

(1) Deterrence

(a) To preserve a certain order in society.  You want to not create a moral hazard by allowing kickers to get away with it.  

(2) Burden of responsibility should be placed on the actor rather than the victim.  
(a) The loss has to be allocated - either by actor or victim, and since wrongdoer committed the act, then wrongdoer should be responsible. 

(3) Individual Autonomy

(a) To provide complete immunity from personal interference from others.  A very individualistic interpretation.  Only consensual touching is allowed.
(4) Minimize harms that occur in the world
c) Allocation of loss – wrongdoer, victim, society? 

(1) Should some of the loss be imposed on the victim if he is aware of his condition that might make the loss that happens much worse than foreseeable?  

(2) Are victims required to take reasonable precautions to prevent or mitigate the loss?  

(3) Is there contributory negligence if he does not take reasonable precautions?

(4) Should there be some sort of social insurance that we all pay that compensates victims?

3. Offensive Battery

a) Second Restatement:  Offends a reasonable sense of personal dignity

b) Harmful or offensive contact provokes retaliation, which we want to deter in order to live in a peaceful society

4. Nonconsensual Contact

a) What is consent?

(1) Boundaries/scope of consent:  
(a) Is there an objective definition of consent, e.g. what does spirit of pleasantry mean? 
(i) Standard goes to nature of interest interfered w/ (consent to surgery)

(ii) Standard goes to conduct that constitutes the invasion (consent to boxing)

(b) Do we look to the normal code of conduct or society or of a profession to determine what the standard of contact is?  E.g.  tapping someone on the shoulder may be permissible in one culture but not another.
(c) Mohr v. Williams

(i) If Dr. believes that social norm is that once you have explicit consent to address hearing problem in right ear, then you have implicit consent to act with respect to the left ear.  The court says that they need to figure out the scope of Mohr's consent.
(ii) That most people would want the problem corrected while under anesthesia (a dangerous procedure), so that means that he was acting within the normal code of conduct, and would have believed that she would have consented to the L ear as well.  
(2) Substitute consent:

(a) Agency

(i) Mohr v. Williams:

(a) Is there substitute consent given by the family physician?  
(b) Had she taken steps to have someone that she trusted present for the operation, almost as her agent, to give consent for her?

(b) Minors and incompetents:

(i) Court looks to guardians to sign for consent.  
(c) End of life situations:

(i) Given by guardians but cannot just be done for benefit of others (kidney donation to sick brother).  
(d) Parental fetus/situations

(i) If mother is competent, she always makes the decisions.

(3) The problem of the idiosyncratic person

(a) But is there a way to protect the idiosyncratic person - the minority?  Is the burden on them to make their wishes clear?  Are we imposing the majority opinion or mores on the rest of society?  
(b) Should the idiosyncratic person have to take steps to either warn others or protect himself from the majority rule?
(c) If Torts objective is to minimize degree of harm, should we opt for understanding of consent that does least amount of harm?
(4) Impossibility of consent

(a) Illegality

(i) Someone cannot consent to something that is illegal.  Consent is ineffective. (Hudson v. Craft).  
(ii) Also implies that person has to be within the class of persons that the law or public policy is designed to protect (e.g. young lads without reason, public policy is regulating boxing matches to prevent injury).
(b) Consent is ineffective where there’s incapacity(intoxication), coercion, person consenting is mistaken re: the nature of the conduct, or in cases where consent i/n operative (murder, enslavement)
(5) Activating force vs. passive force

(a) Hudson v. Craft:  Majority Promoter is viewed as the activating force, the instigator, as if he threw a book and the other fighter is just like a book.
b) Contact

(1) Does not actually have to be physical contact, can be contact with something connected to the person or an action that will cause harm (shooting someone’s horse while they’re on it, pulling a chair out from underneath an elderly woman before she sits down (Garret v. Dailey), throwing something)
5. Volitional Act & Unlawful Intent

a) Volitional Act Requirement

(1) Act must volitional – can’t be from muscle spasm or when unconscious.
b) Restatements and theories on intent
(1) Second Restatement of account of intention (1934):  
(a) "to denote that the actor desires to cause consequences of his act, or that he believes that the consequences are substantially certain to result from it."  

(2) Third restatement:   Distinguishes acts of purpose from those of knowledge:  
(a) "A person intentionally causes harm if the person brings about that harm either purposefully or knowingly. 

(i) Purpose. A person purposefully causes harm if the person acts with the desire to bring about that harm.  

(ii) Knowledge.  A person knowingly causes harm if the person engaged in action knowing that harm is substantially certain to occur.

(3) Social utility of action

(a) Even if the D is substantially certain that harm will occur (manufacturer of cars knows that 1 in 100,000 will have manufacturing defect) you need to look at the social utility of the activity to determine whether social utility can be used as a defense.  

(4) Third restatement on recklessness:  "An actor recklessly causes harm if: 

(a) The actor knows of the risk of harm created by his conduct, or knows facts that make that risk obvious to anyone in the actor's situation

(b) The precaution that would eliminate or reduce that risk involves burdens that are so slight relative to the magnitude of the risk as to render highly blameworthy the actor's failure to adopt the precaution."  

c) Unlawful Intent 
(1) The key point is that if the intended act is unlawful, the intention is therefore unlawful.  To recover damages, either the intention must be unlawful or D is at fault for the injuries.
(2) Some things may be lawful in certain situations and unlawful in others 

(a) Vosburg v. Putney:  Since P and D were in the classroom and not, by contrast, on the playground, D's act of kicking P was unlawful and, therefore, D's intention to kick P was also unlawful.  An implied license to kick is allowed on playgrounds, but the kick took place in the classroom, therefore making the kick unlawful. 
(3) Transferred intent
(a) Substantial certainty:

(i) The fact that an injury results to another than was intended does not relieve the defendant from responsibility."   (Talmage v. Smith) 
(ii) If D is substantially certain that someone will be injured, then he has still the requisite unlawful intent – it doesn’t have to be directed towards a specific person.   (firing bullet into crowd).  Mistake of fact or identity does not excuse him from liability as long as original intent was unlawful.  
(b) Intent to harm in trespasses to real property:  
(i) Like battery, it does not even require a showing of minimal harm so long as the defendant enters the plaintiff's land on, above, or  below the surface.  
(ii) Rubber ball in swimming pool
(a) The court stressed "that the intent controlling is the intent to complete the physical act and not the intent to cause injurious consequences."  
(b) Trespass does not hinge on the intent of the person to trespass - it is trespass even if the person does not know that they are trespassing.  But the intent, or bad faith, of the defendant is taken into account for determining damages.  
6. Consequences/Harm

a) Foreseeability

(1) It does not matter if D can foresee or intend the serious harm that he caused, it is enough that he intended the act that took place and knew that some (albeit he expected small) amount of injury would take place.  (Vosburg v. Putney – unforeseeability that Vosburg’s leg would have to be amputated).

(2) Take your victim as you find him rule usually applies...(Vosburg)
b) Damages

(1) Dependent on degree of harm

(a) Mohr v. Williams:

(i) Damages must depend upon the character and extent of the injury inflicted..in determining which the nature of the malady intended to be healed and the beneficial nature of the operation should be taken into consideration, as well as the good faith of the D."

7. Defenses

a) Consent

(1) volenti non fit injuria – to one who is willing, no harm is done 

(2) Express consent

(3) Implied consent

(a) Medical:

(i) Implied consent for life-threatening medical emergencies – reasonable person would have given consent under circumstances and no time to consider all options.  
(ii) The "single cut rule": consent in serious operations is considered general in nature..and surgeon may extend area of operation to any abnormal or diseased condition in the area of original incision...when patient is incapable of giving consent."  
(b) Athletic events – recklessness has to be proved since athlete has implied to consent to certain amount of conduct:

(i) "a player is liable for injury in a tort action if his conduct is such that it is either deliberate, wilful, or with a reckless disregard for the safety of the other player so as to cause injury to that player, the same being a question of fact to be decided by a jury..” Reckless or intentional conduct must exist.
(c) Consent can be implied in fact - by actions rather than words – (O’Brien v. Cunard) immigrant holding out arm for smallpox vaccination)
b) Impossibility of Volitional Act:

(1) !  Mental Incapacity (McGuire v. Almy):

(a) Courts broadly say that insane person is liable for his torts.  No distinction is made between intentional and negligent torts, nor does degree of insanity have a bearing.   Theory is that even if insane person had unlawful intent b/c of insanity (wanted to kill person who they thought was secret gov’t agent), they still possess intent to harm.
(b) General Theories for holding mental incompetents liable:

(i) Rule imposing liability tends to make more watchful those persons who have charge of D and who may have interest in preserving property.  

(ii) An insane person must pay for support, and thus also damages. A rich insane person should not be able to continue in unimpaired enjoyment of insanity while victim bears his burden.  

(iii) Judicial efficiency and fairness:  Courts are not willing to introduce into great body of civil litigation the difficulties in determining mental capacity which are necessary in criminal field.  

(iv) Fault is not prerequisite to liability and in fact may undermine public good if it were necessary.  

(c) Why do we have different rules for people who have no mental control vs. people who do not have physical control?

(2) √  Epilepsy/seizure or sleepwalking:

(a) The epileptic had no intention to strike or to harm, and is not committing a volitional act.  So it is not a battery.
(3) !/√  Age/Minor Status
(a) Parents a/n generally liable for intentional torts of children except when they are on notice (see duty to control conduct of others section)

(b) Children are generally still liable for their intentional torts (chair pulling out).
c) Contrib negl and contrib recklessness are not defenses to intentional misconduct
d) Lack of Intent to Harm

(1) Restatement suggests that there must be an intent to harm, but not all courts have adopted this 
(a) (White v. U of Idaho – piano teacher touching student’s back which caused nerve damage)

(b) (rubber ball in swimming pool case – Cleveland Park Club)
e) Self-defense 
(1) √  (Courvosier v. Raymond)
(a) Reasonable person standard:

(i) “If evidence for D shows that circumstances surrounding him at time of incident were such as to lead a reasonable man to believe that his life was in danger, or that he was in danger of receiving great bodily harm at hands of P, then he is not liable.” 
(b) Defense of third parties:

(i) Restatement §76:  person can defend 3rd party “under same conditions and by same means as those under and by which he is privileged to defend himself if the actor correctly or reasonably believes” that 3rd party is entitled to use force in self-defense and that his own intervention is necessary to protect that party.
(c) Force must be appropriate to the situation.  No deadly force unless defender presents threat of severe bodily injury or death, and only if there’s no retreat possible.  You can be liable under battery for any force used above what was needed.  Western states d/n make you retreat if you’re in your own home

(d) Mistake:

(i) Maj position: S/D applies if D reasonably believes he is being attacked

(ii) Min position: no defense unless P created appearance of attack and D made reas mistake

(2) Self-defense and the innocent bystander (Morris v. Platt):

(a) Restatement §75:  D is liable to 3rd party only if “actor realizes or should realize that his act creates an unreasonable risk of causing such harm.”  

f) Defense of Property 
(1) Restatement

(a) §  143 on restatement provides a two-tiered privilege for use of force to prevent commission of a felony.  

(i) For general felonies any "peace officer or private person" may use force "which is not intended or likely to cause death or serious bodily harm," so long as lesser force cannot achieve the same end.     

(ii) When a felony threatens death or serious bodily harm, or involves breaking and entering a dwelling place, then the actor may use force or impose confinement "intended or likely to cause death or serious bodily harm" if lesser force is not available.
(2) !  M'Ilvoy v. Cockran: assault and battery of trespasser
(a) An assault and battery in defense of real property is justified when: 

(i) Previous to the use of force, there is a request to depart
(ii) The battery is occasioned by way of moliter manus - gently laying one's hands on the trespasser.  

(iii) Justification for force  employed without a request to depart can be made only when the entry on the property is made with actual force - the breaking down of a gate or door, or coming in with force and arms.  This is returning violence with violence.  Actual force justifies retaliatory force, while constructive force requires the use of moliter manus to repel the intruder.

(b) There was inappropriate use of force and no request to depart, so defense of property was not allowed.
(3) !  Bird v. Holbrook: spring guns

(a) Reasons for not allowing defense of property

(i) No notice given - D had malice in his intent – to cause harm and catch thief - when he set up spring gun.  He did not use it as a deterrence, since he did not post notice 

(ii) Personal rights should always be more important than property rights:  "it is inhuman to catch a man by means which may maim him or endanger his life."  The greater good is to preserve the life of the man rather than catching and harming a thief.  

(iii) "If D had been present, he would not have been authorized even in taking him into custody, and no man can do indirectly that which he is forbidden to do directly."  

(iv) Good intent on part of the trespasser - he did not deserve the injury, for his actions were pure, undertaken in daylight, and he tried to ascertain whether or not the garden was occupied. - general reluctance of society to punish the Good Samaritan.  

(v) Economic interpretation: - measuring the societal good of being able to protect your property against the societal good of being able to recover lost livestock, which was a common problem at the time.
B. Trespass

1. Defenses

a) Private Necessity

(1) Necessity serves as a privilege for trespass, and the privilege can be asserted offensively.
(2) Reasonableness Standard in using necessity
(a) The reasonableness calculus doesn't force you to take the cost minimizing action - it puts you in the position of you get a great advantage if you can convince the court that you took the cost minimizing action.  
(3) Ploof v. Putnam:  D moored to dock during terrible storm, and P unmoored boat, causing damage to boat and possibility of harm to family.
(a) An entry upon land to save goods which are in danger of being lost or destroyed by water or fire is not a trespass.

(b) Necessity applies with special force to the preservation of human life - one may sacrifice property to save his life or that of others.  

(c) Extension of above - Mouse's Case, or the law of general average contribution:  If a vessel is carrying cargo and encounters problems, the captain my throw some of the cargo over to save the ship.  But in order to not disadvantage the persons whose cargo was thrown over, the captain will see that those whose lost it will receive pro rata compensation, as if they were considered as joint owners of the property in question.  It minimizes loss to everyone.

(d) The averment of necessity is complete - it covers not only the necessity of mooring, but the necessity of mooring to that dock.

(4) Vincent v. Lake Erie Transport:  D moored to dock during storm and kept ship fastened, but in course of storm ship caused damage to dock.

(a) D may use or damage P's property in ways that he could not do in the absence of necessity, but in contrast to self-defense, he must pay for the privilege with reasonable rental value or compensation for lost or damaged property.  

(b) In this case we have liability without fault - there is no fault here, but the ship owner still must pay.  

(c) There has been some unjust enrichment here - that he has saved his property, enriching himself, while causing D a loss.  

(d) Another way to think about tort law is to compensate wrongs, and prevent violation of rights.  The dock owner had a right to the integrity of his dock.  He committed a wrong by availing himself of the property of the dock owner and the dock owner now has a right to compensation.
b) Public Necessity

(1) Government entities/eminent domain:

(a) Where property needs to be destroyed to protect destruction of city by fire or flood.

(b) Where it is destroyed to prevent it from falling into enemy hands during a war.

(c) The privilege here is complete and no action will lie against either private or govt parties whose conduct is justified by a public necessity - the necessity is solely social, one is acting as a champion of the public.

(d) Yet more recently this immunity from liability has been qualified by saying when the public entity has acted reasonably and in good faith.
C. Assault

1. Elements of assault:

a) Intent:  D acts intending to cause a harmful or offensive contact with the person of the other or third person, or an imminent apprehension of such a contact and

b) Reasonable Fear of invasion:  P is thereby put in such imminent apprehension. (fear of invasion of person – imminent contact).  
(1) Does not actually believe that actor will be effective in contact, just that he intends to do so. 
(2) Even if the actor is not actually capable of carrying out act (e.g. toy pistol) it is still an assault if a reasonable person would have been put in fear of contact.  
c) Act:  Demonstration that there will be an act leading to imminent harm.

2. Interests being protected

a) Freedom of movement, autonomy of person – not having your actions influenced by threats.  

b) Preservation of societal order – ratchet effects – more violence will ensue if people are allowed to make violent threats.  Escalating violence.

c) Feeling peace and freedom from fear – psychological state and emotional trauma

d) Emotional distress can exact physical tolls as well – miscarriages, heart attacks, etc.

e) Dignity – this goes back to psychological state

3. How do we sort out the frivolous assaults from the serious ones?

a) Interest being protected – if it is freedom from fear of physical harm, may be more serious than just harm to dignity.

b) An actual act – if an actual act occurs, then also more proof, e.g. swinging hatchet and missing, pulling cigar out of someone’s mouth, getting up to stand in front of someone to say you’ll hit them rather than saying it from across the room.  

c) Mere words are not enough, have to have act or beginning of an act or specific circumstances

d) Imminent means without reasonable delay

4. Case Law

a) Alcorn v. Mitchell:  (spitting on guy in court)
(1) Harm:  harm to dignity from being spat on.  

(2) Also apprehension of contact, since being spat on could signify leading to a fight where he would be struck.  

D. False Imprisonment

1. Elements of False Imprisonment:

a) Nonconsensual Confinement

(1) Restriction of freedom of movement – this is analogous to act or contact in other intentional torts

(2) Look at scope of consent – what their choices were, the situation.  Is there real consent where she has no other alternatives or is coercive?

(3) Look at scope of confinement – whether there was actual restraint (physical), or verbal or intimidation.  

(4) Need to distinguish between frivolous and non-frivolous – look at the act done to do this, since not all harms to indignity should be prosecuted (act to create fear, contact, falsely imprisoned).  Could also examine consequences of act – physical damage (heart attack v. brief shame).
(5) Need to look at the area of confinement – large areas can still be confinement, but not beyond common sense – such as only being restricted from one store. 

(6) You are permitted to remain with your property to protect it and if you are forced to stay with it, then it is false imprisonment (woman whose bags were locked in trunk).  

(a) If you view extension of property as a person, then yes.

(b) Also look at what is taken – whether it is just her credit car (doesn’t even belong to her) v. her clothing – she’d have to walk out naked.

(c) What options the taking of property gives you – the reasonableness of feeling compelled to stay with the property.  This also goes to the type of property retained and your fears about losing it.  

(d) Whether you can call the police, summon other help, return to get the card later, etc.  

(e) Somewhat like the illicit choice – your money or your life – if someone seizes your property, you end up choosing the lesser of two evils – surrendering property or surrendering right to freedom of movement. 

b) Intent to imprison

c) Consciousness of confinement

(1) Personal Autonomy interest:

(a) Restatement – if you are confined without your knowledge and no physical harm results, then you are not falsely imprisoned.

(b) Interest being protected – since the interest has not been violated, then there is no action – if interest is personal autonomy, then may have not been violated since your choices were not restricted.  

(2) Dignity Interest

(a) But what about if P finds out right after the event and still faces embarrassment and indignity?  Then interest is still being violated.  Again, will probably look at interest and to what extent it was violated.  

(b) Some courts allow it and say that it only goes to question of damages and not liability.

d) Unreasonableness of confinement – unreasonable in time, place or manner

(1) What about if they shut down the entire store to search for the person?

(a) Could be unreasonableness in time – detaining for too long.

(b) Unreasonableness in manner – probability of individual person being the thief

(c) Could do the B/PL equation, value of time v. value of everyone else’s time and dignity affronted.

2. Interests protected:

a) Personal Autonomy, freedom of movement

b) Protection from affront to dignity

(1) What if they searched everyone through an unannounced policy?  Then there may be less dignity harm, since everyone is searched...

(2) Consequences that are much greater for special groups of people - idiosyncratic.

(3) Might cater to specific group of individuals that they believe to be more likely to be shoplifters, so they may end up offending everyone rather than noone.

c) Protection from fear, insecurity about their person – confinement can lead to emotion and thus physical harms.  

d) Protection of gov’t right – not allowing private enforcement of laws.

e) Need to balance the interests – show that store’s interests outweighs the individuals interest.  

3. Defenses:

a) Consent

(1) Implied consent – if they had posted a notice saying that they have right to search bags.

b) Lack of intent

c) Right to protect property interest with proportional force

d) Reasonable Mistake – Courvosier v. Raymond

E. Emotional Harms

1. General

a) Courts have more of complete discretion over whether or not they allow it.

b) Outrageousness is the key here – difficult to figure out common thread that serves as functional equivalent to act, confinement, or contact in the other intentional torts.

c) Perhaps there are patterns of activity that don’t amount to other intentional torts, but over time we think is sufficiently offensive that we can identify it, so we create statutes to outlaw certain kinds of behavior.  

d) In the past, only emotion harms that were parasitic on physical harms were actionable.  Has since been expanded to include emotional harms where no physical harm occurred.  
2. Intentional infliction of emotional harm - requirements

a) Outrageous conduct

(1) One who by extreme and outrageous conduct intentionally or recklessly causes severe emotional distress to another is buject to liability for emotional and physical distress

(2) Where such conduct is directed at third person, actor is liable if he intentionally or recklessly causes distress to 

(a) Member of person’s immediate family who is present, whether or not such distress results in bodily harm

(b) Any other person who is present, if such distress results in bodily harm.

(3) Outrageous conduct has to be so extreme in degree as to go beyond all possible bounds of decency to be atrocious.  Does not extend to mere insults, indignities, threats, annoyances, or other trivialities.

(4) Extreme conduct may arise from actor’s knowledge that other person is peculiarly susceptible to emotional distress.

3. Negligent infliction of Emotional Harm - Requirements/Tests

a) D has to first be negligent in act creating emotional harm, and has to be proximate cause of harm. 
b) Physical Impact rule – in the past required emotional harm to be parasitic on physical harm

(1) to prevent fraud

(2) force P to act with more care – develop thicker skin, etc.  

(3) to be able to determine which claims are valid

c) Zone of danger

(1) Whether person was in danger of being hit
d) Foreseeability test (Dillon)
(1) Close family relationship (also somewhat related to foreseeability, since family members are foreseeably going to be emotionally impacted)

(2) Directness/proximate cause
(a) Whether shock resulted directly from emotional impact.  
(b) Event has to be proximate cause of shock – expansion of proximate cause.  

(3) Location of P – has to be direct or nearly direct witness
(a) (lessening zone of danger) – physically present but not within zone of danger

4. Interests being protected:

a) Emotional harms, which can lead to physical harm

5. Types of emotional distress:

a) Hate crime legislation

b) Sexual harassment

c) Bill collection – harassing individual with phone calls

d) Professional conduct – doctor forcing injured people to wait out in rain 

6. Potential common threads:

a) Knowledge/Intent – specific knowledge that act would create great emotional distress

b) Consequences – some sort of real physical or emotional harm
7. Definition of Duty

a) If burden is less than PL, then you have duty to avoid event, but if burden greater than PL, then you do not have duty.

b) Trying to establish duty that goes beyond duty to immediate person injured.  Duty is really an expression of public policy – that we want to compensate people for harms caused by emotional distress.

c) In order to require obligation on the distant father, we must be talking about something else.  More of a communal notion of duty – those violations which are particularly flagrant and very emotionally distressful (death of a child) we should compensate.  But not those that are more routine, for we suffer each day a variety of emotional harms.  
8. Intentional infliction of emotional distress case law
a) Wilkonson v. Downton (D tells P that her husband was in accident, P sues D for miscarriage from intentional infliction of emotional distress)

(1) There was an intent to product some harm, but not to the extent of that which occurred.  But take your victim as you find him insists that D be liable.
(2) Effect on victim was foreseeable and was not too remote to have D’s conduct be a proximate cause of injury.

b) Outrageous conduct 

(1) Professional conduct - Doctor incorrectly diagnoses patients and leaves them in rain after accident to wait for husband

(2) Bill collection – harassing people endlessly

(3) Strong arm tactics – rubbish collectors threaten to beat someone up unless he gives them his business
(4) Racial insults – bank teller harassed and told that she was lazy and slow

(5) Sexual harassment – told her that she was dumb ass woman and suggested that they had sex with people for raises

9. Negligent Infliction of Emotional Distress Case Law
a) Dillon v. Legg (girl hit by car, mother witnesses accident)

(1) Court allows recovery based on foreseeability test.  
(2) Court does away with zone of danger rule

b) Tobin v. Grossman (mother comes to scene of accident moments after kid hit)
(1) Denies foreseeability test, says that if foreseeability were only test, would not be able to be confined to close family members – why not extend to all who were present if foreseeability on part of D was only thing necessary for recovery.  

c) Molien v. Kasier (couple splits up b/c husband erroneously diagnosed with syphilis)
(1) P (wife) was direct victim of D’s action – used general foreseeability test b/c erroneous diagnosis would likely lead to marital problems.  

(2) Examines duty of D to P – since D treated husband for sexual disease, foreseeability of wife suffering as a result was allowed.

d) Longs Drugs (negligent prescription written – 5x dosage)

(1) Pharmacy did not owe duty to parents of child, since there was no direct relationship.
e) Dzionkonski (girl hit by car, mother dies on scene, father dies when he hears)
(1) Duty

(a) Duty is defined by what is foreseeable, and D could not have foreseen emotional distress unless Ds were present and were close family members.  
(b) Court denies recovery to father, who was not present.  

(2) Proximate Cause

(a) There is a foreseeable duty on behalf of D to all Ps family members.  We need to cut off the proximate cause somewhere, so we cut it off at physically present and family members.  

(3) Fallacy

(a) The burden (duty to avoid hitting the girl and driving negligently and passing the schoolbus) stays the same – very low.

(b) The PL, is very high even with just hitting the little girl.

(c) So B < P1L1 already

(d) Other possibilities

(e) Damage to lawn, P2L2

(f) Emotional distress to parents, P3L3

(g) So if B < P1L1, then B < P1L1 + P2L2 + P3L3......PnLn

(h) Do you compare burden to each particular harm or the summation of all possible harms?  At what point do you cut off the burden?  Do you go all the way to PnLn – or is it too remote to find duty when you do the individual comparison?  

(i) But at zero marginal cost (zero additional burden) you avoid all of the other PLs as well.

(j) So can you use the duty analysis (physical presence and family contact) to know where to cut off the PLs.  

III. Negligence

A. Intro

1. Elements of negligence tort:

a) Duty:  Did the D owe the P a duty to conform his conduct to a standard necessary to avoid an unreasonable risk of harm to others?
b) Breach/Standard of Care:  Did D's conduct, whether by way of act or omission, fall below the applicable standard of care?  Also called the little n negligence issue - did the D breach a duty owed to P.  

c) Cause in Fact/Proximate Cause:  Was the D's failure to meet the applicable standard of care legally causally connected to P's harm.  Sometimes divided into causation in fact and proximate causation.
d) Damages:  Did P suffer harm?
2. What P has to prove for negligence:

a) Foreseeability of risk of injury balanced against utility of conduct
b) Extent of risks
c) Likelihood of risk causing harm
d) Alternatives to proposed conduct
e) D’s opportunity to know about safer alternatives and cost.

3. Definition
a) Negligence is the omission to do something which a reasonable man, guided upon those considerations which ordinarily regulate the conduct of human affairs, would do, or doing something which a prudent and reasonable man would not do.
B. Duty

1. Definition
a) To whom we owe a duty as we walk through life - to society at large (Andrews), or to those foreseeable in area of danger for your activity - that you could reasonably see was at risk(Cardozo).

b) Andrews – “know it when you see it”

(1) The distinction, the line drawn between the negligence and non-negligence is essentially arbitrary.  
(2) The court draws that line, how the community feels about causation issues, and at some point he will just draw the line and say the cause is too attenuated.  
(3) Andrews doesn't create a test for it - the judge just knows when to draw the line.
c) B/PL Definition

(1) Duty can also be defined by B/PL, when your burden is less than the other’s expected PL, you owe them (and hence society) a duty to make the most socially useful choice.

d) Expression of policy considerations

(1) “Duty is not sacrosanct in itself, but is only an expression of the sum total of those considerations of policy which leads the law to say that the P is entitled to protection.”  Prosser.

e) Conclusory expressions that liability should be imposed in case

(1) “Legal Duties are not discoverable facts of nature, but merely conclusory expressions that, in cases of a particular type, liability should be imposed for damage done.” Tarasoff.

2. Factors of duty

a) Judge’s sense of morality

b) Foreseeability and extent of likely harm from D’s conduct

c) Burden that new duty will impose on D

d) Alternative ways of protecting P’s interest

e) Who is in the best position to reduce harm

f) Increased safety likely to result from imposing duty

g) Chilling effect duty may have on D’s conduct (e.g. D’s beneficial conduct will be eliminated)
h) Administrative problems for courts in enforcing duty and proof

i) Policies created by legislature (e.g. Court imposing liability in Tarasoff b/c statute rejected doctor/patient privilege in situations involving danger to third persons).
3. Foreseeability creating duty Case Law
a) √  Polemis (fire started by dropped plank)

(1) Duty owed: Directness test - to anyone to whom consequences of negligence befall without any intervening proximate causes.
(2) Foreseeability of risk and harm

(a) Foreseeability is only valid in non-negligent situations.  It is immaterial that spark was unforeseeable, since plank fell due to negligence.

(b) Anticipations of person who committed negligent acts are irrelevant since damage is direct result of negligence.

(c) Foreseeability of harm relevant -> person could not be negligent if they performed an act which they honestly thought would result in no harm.

(d) Extent of harm, if risk of harm known, is not limited by foreseeability of exact damages occurring.  Take victim as you find him.  

(3) Directness

(a) Person is liable for all damages resulting from natural and proximate consequences - unbroken sequence with no intervening causes.

b) !  Palsgraf v. LIRR (package exploded and scales fell):

(1) Duty owed:  Cardozo:  Only to foreseeable victims of your negligence – no intervening causes.  Risk that materializes had to be within range of foreseeabler risks.  Andrews:  Society at large, as long as proximate cause exists – once stone has been thrown in pond causing ripple effect.
(2) Intervening cause:

(a) Third party's carrying explosives on train was intervening cause in negligence - D's employees were negligent towards third party, but there was intervening cause of third party's explosives which caused actual harm to P, not D's negligence.

(3) Lack of foreseeability:

(a) Nature and contents of package were not knowable to D's servants, so they could not have foreseen that their negligent towards third party would have caused harm to P.  

(4) Lack of duty towards P:

(a) Simply b/c they were negligent does not mean that they were negligent to society at large.  They were negligent specifically towards third party, but this negligence could not be extended to everyone else, and thus to P.  
(b) Wrongdoer to P was one who carried explosives, not one who jostled wrongdoer.  Negligence cannot be abstract - it has to be related to or directed at P unless willful or malicious.
(c) Risk reasonably perceives defines duty to be obeyed if within range of apprehension - some acts are imminently dangerous and people should be held liable for all results (shooting, driving fast in crowded street).  But others simply are too low risk to extend harm to all those to whom it befalls (jostling stranger in crowd with package).  Negligence should always be measured against the risk created.

(5) You can use proximate cause to determine liability, but not negligence or duty towards P.

c) √  Marshall v. Nugent (truck pushed car off road, P got hit by another car):
(1) Duty owed:  Measured by whether risk is in position of safety or harm.  Liability limited by consequences from risk and P has to be within original zone of danger created by risk.
(2) Proximate causation

(a) Confine liability of negligent actor to harmful consequences which result from operation of risk, the foreseeability of which rendered D's conduct negligent.  

(3) Definition of risk created can be narrow or broad, to include or exclude foreseeability.  Jury decides whether there is a causal link that is enough to establish negligence.  

(4) Risk creates still in position of harm

(a) In this case, possibility for negligence still existed since the risk was not at rest in a position of safety - the risk that had been created still had the possibility to cause harm to P thru the situation that had been created.  P was still at risk to oncoming cars from D's negligence.

d) !  Wagon Mound #1 (oil slick in port lights on fire and burns dock)

(1) Duty owed:  Liability and duty are limited to that which is reasonably foreseeable.  Rests on definition of the risk to determine foreseeability of it.
(2) Reasonable foreseeability of risk and consequences

(a) If negligence is just by reasonable person standard, then extent of liability for negligence should be judged by reasonably foreseeable standard as well.

(b) Need to Some limitations must be imposed on consequences - since he is judged by what reasonable man ought to foresee, then why should test be direct consequence for liability rather than same test.

(i) Damages will either be very obvious or not obvious or in between.  For in between situations, definition of risk and facts are used to judge foresee.
e) Wagon Mound cases

(1) !  Asbestos cement cover knocked into vat, later caused explosion

(a) Reasonably foreseeable risk was splashing hot liquid, but not explosion.

(2) √  Manhole left open with paraffin lamps lighting sight, boy knocked lamp in causing explosion

(a) Paraffin known to be dangerous and burn, so danger foreseeable (could also go other way – burning was foreseeable, but not explosion)

f) √  Wagon Mound #2 (tankership sues ship that spilled oil):

(1) Duty owed:  Fire was reasonably foreseeable, and even if slight risk, still cannot ignore it without reasonable justification (and none given here).
(2) Use of B/PL to determine duty

(a) If ship's engineer had thought about loss (using hand formula to balance benefits against potential losses) he would have stopped discharge immediately - was his duty and in his interest to stop discharge.

(b) Ship's engineer should have known that it is possible to ignite oil and that it had happened before.  He may have thought it would only happen in exceptional circumstances, but a reasonable man would not dismiss risk and do nothing when it would be easy to prevent it.

g) √  Kinsman (ship breaks loose and get stuck under bridge causing flooding)

(1) Duty owed:  Doesn’t matter how small the risk is, if the small risk materializes instead of the large risk, still liable.
(2) Take victim as you find him

(a) One who fails to use care to protect others should not be exonerated when very risks that rendered conduct negligent produced other and more serious consequences to such persons that were fairly foreseeable when he was negligent.  
(3) Foreseeability

(a) Foreseeability of danger is necessary to render conduct negligent where damage was caused by just those forces whose existence required exercise of greater care than was taken.

(4) Small risk still requires care

(a) When there is negligent D, and small risk of serious harm and large risk of small harm, D will still be liable no matter whether serious or small harm occurs.  Small harm was enough to render disregard of it actionable; existence of less likely serious risk should make him more liable rather than less liable...
C. Breach/Measuring Standard of Care

1. Introduction

a) General:

(1) Key issue in modern negligence determination: what was the standard of care?  
(2) How did D’s conduct differ from that of a reasonable person using ordinary care?  
(3) Would a reasonable  person have foreseen the harm, and what precautions would a reasonable  person take?  

b) Third Restatement of Torts: 
(1) An actor is negligent in engaging in conduct if the actor does not exercise reasonable care under all the circumstances.  Primary factors to consider in ascertaining whether conduct lacks reasonable care the foreseeable likelihood that it will result in harm, the foreseeable severity of the harm that may ensue, and the burden that would be borne by the actor and others if the actor takes precautions that eliminate or reduce the possibility of harm.

c) Learned Hand Formula 
(1) An attempt to define the std of care: if B < PL, there is a duty to prevent (US v Carroll Towing)

(2) Posner: Hand’s formula creates social efficiency in the std of care.  There are some accidents that should happen.  Allows you to see what social welfare is lost by not doing the economically efficient thing.
(3) Problems:

(a) How much sense does this make outside the commercial context?  Can all losses be appropriately valuated and is the formula overridden by certain moral values?

(b) Gets weird on the margins, where a small shift in probability changes the outcome dramatically.

(c) What if optimal standard of care cannot be determined?  Then negligence standard may actually impose greater care than strict liability since larger margin of error.

(d) How does a court identify the cheaper cost avoider when one party is better able to assess the magnitude of the risk while the other party is better able to control damages when harm occurs?

(e) Ex ante vs. ex post reasoning colored by emotions once loss has occurred:

(i) Ex ante someone makes the determination that it is not worth it to fill in all the wells.  Having little girl falling in the well still doesn't change the ex ante calculation.  So assume that even cost of rescue does not exceed burden.  
(ii) But ex post, whole analysis changes, since we have a certainty that someone will fall in and possible die.  Even though ex ante we didn't believe it was worth avoiding the loss, now that risk has materialized ex post, we feel we should spend lots of resources to avoid injury from materializing.  
(iii) Would not be improper reasoning simply because it is ex post reasoning - more of an emotional state, more of a certainty, reciprocity - rescue us when we're in danger - for all those reasons we engage in ex post reason.
(4) Why is negligence commonplace?  

(a) There are many errors that pervade the system - emotional or physical state of people causing them to make poor decisions.

(b) There are increasing possibilities for negligence, b/c of technology and medical advances.  

(5) Usage:

(a) Usually the jury just uses the std of the reasonable person, however, and don’t  apply the Hand formula., but academics and instrumentalists like Posner love the formula and wonder why juries don’t  use it more.
d) Airline/common carrier has higher standard of care, e.g. B > PL 
(1) Perceived ultrahazardous nature of instrumentalities of public rapid transit

(2) Status of passengers and their relationship to the carrier - their total dependency on carrier for safety precautions.

(3) The common carrier has to take the higher standard of care and impose a higher burden to avoid risk. (United Airlines – has to go to limit of technology to prevent baggage from falling).
2. Reasonable Person Standard

a) 3 elements of reasonable person std:

(1) Would a reasonable  person have been aware of the risk?

(2) What would a reasonable  person have done?  What precautions would reasonable  person take?

(3) Capacity: it’s a normative std.  What we expect people to adhere to.

3. Subjective vs. Objective Standard/Capacity
a) Capacity is a question of law.  The jury doesn’t decide.
b) Objective Standard

(1) Argument to use an objective incentive to measure neg (Vaughan v. Menlove – hayrick that caught fire, Roberts v. Ring – old guy who couldn’t see well and ran over kid, Daniels – inexperienced motorcycle driver who was killed):

(a) Deterrence:  I can't be deterred from acting a certain way since I can't act that way anyway with an objective standard.  A person might change their activity level based on standard of negligence applied.

(b) Incentives for people to exercise more care: internalize B/PL and activity level choice, similar to s.l.

(c) Predictability 

(d) Innocent victim should not bear the loss

(e) Minimize harms:  Policy reason - it would be impractical - hazard to society if some were held to lower standard of care, like young drivers.

(f) With subjective - ex post it is difficult for the court to figure out what would be the standard used and apply B/PL- difficulty to prove - ascertaining what might this person be able to do to avoid the injury.  Fraud would be easy – easy to fake mental incompetence, stupidity.
(2) Exceptions:

c) Subjective standard:

(1) Underlying Negligence should be fault-based liability. 
(2) Act would have to be purposeful – with some intention, otherwise you are imposing loss on D for injuries that he caused, even though with his capacity he couldn’t have possibly acted differently to avoid the accident.
d) Blending of subject and objective standards:  Apply reasonableness standard to person under same set of circumstances/situation:

(1) Particular set of circumstances/behavior:

(a) Not every want of care results in liability.  Rights, duties, and obligations are relative, not absolute.  Ordinary care is degree of care which under same or similar circumstances the great mass of mankind would ordinarily exercise. (Osborn v. Montgomery – man pulling over to drop off drycleaning and opening door which hits cyclist).

(2) Physical Infirmities:

(a) People with physical infirmities are only held to standard of care which is reasonable for people in similar circumstances, with a similar disability, e.g. blind person cannot be held to same reasonable person standard as sighted person.  (Fletcher v. City of Aberdeen – blind man falls in hole in sidewalk and sues city for not putting up enough obstructions)

(3) Emergency doctrine 
(a) (Lyons v. Midnight Sun) now folded into general std of care: what reasonable person would do under same emergency circumstances.

(4) Children

(a) Usually it’s “reasonable child of that age and capacity” (Roberts v. Ring – child who ran out into street in front of car)

(b) Sometimes children engaging in adult activities (driving motorboat, flying plane) will be held to adult std b/c others around them don’t  know they are children.  Assume they are adults and behave accordingly. (Daniels)

(c) But children said to be engaging in child’s activities (baseball, skiing, hunting) can be held to child’s standard of care.  
(d) Under 5 years old are generally not capable of negligence.  
(5) Superior capacity:

(a) Common law: no higher std of care b/c of superior capacity—you would lose uniformity of std of care if you did that (Fredericks)

(b) Restatement 2d §298: the actor must use any superior capacities s/he has.  Reasonable  person is a floor, n/ a ceiling.

(6) Mental Incapacity/Sanity:

(a) Effect of mental illness of hallucinations must be such as to affect the person's ability to understand and appreciate duty which rests upon him to drive car with ordinary care or ability to control car in prudent manner.

(b) Must be absence of notice or forewarning to person that he may be suddenly subject to insanity.   (Breunig)

(c) Same reasons as in volitional act section in battery for holding liable.
(7) Sudden uncontrollable loss of physical capacity (heart attack, seizure, etc. with no fore-knowledge of condition).

(a) Generally held to be an adequate defense
  Capacity Case Table

	Case           
	Characteristics                 
	Result                 
	Activity

	Vaughan     
	Mental Capacity              
	Ignored               
	Hay stacking

	Roberts       
	Age/Infirmity                    
	Ignored               
	Driving

	Roberts       
	Age/Minor Status            
	Considered         
	Crossing Street

	Daniels        
	Age/Minor Status            
	Ignored              
	Driving Motorcycle

	LL                
	Age                                 
	Considered/Ignored  
	Baseball

	Breunig
	Mental Sanity
	Ignored
	Driving


4. Balancing of Interests/Calculus of Risk
a) Calculating risk vs. balancing interests

(1) Magnitude of risk

(2) Principal object of risk

(3) Collateral object of risk

(4) Utility of risk was probability that risk taken would result in success.

(5) Necessity of risk.

(6) Analysis in Eckert case:
(a) Magnitude of risk was great and principal object very valuable, but counterbalanced by value of collateral object and great utility and necessity.  Taking a risk to save a life is generally thought of as reasonable.
b) Untaken Precaution

(1) !  Blyth v. Birmingham Water Works:  cold winter, fire clogged w/ ice plug flooded house, could have removed ice from plug to prevent flood.  Defenses:

(a) No negligence/custom:  A reasonable man would act with reference to the average circumstances of temp. in ordinary years.  This frost was very severe - since an accident had not happened in 25 years, they had performed well under ordinary circumstances.

(b) Duty:   P was as under as much of an obligation to remove ice as D.

(c) Reasonable foreseeability:  D's could not have forseen obscure accident, and true cause was not discovered for many months after it occurred.

(2) Cooley v. Public Service Co.:  storm broker power cable which hit telephone cable and cause loud noise to P which induced fright.  D power company and telephone company could have installed basket to catch line.  Defenses:

(a) Duty:  

(i) D's duty of care towards P is weaker than towards the person in the street, since the risk to the people in the street is greater with proposed precaution.

(ii) D's duty cannot be to both parties, since performance of one duty would mean non-performance to the other.  Law does not tolerate liable if you do, liable if you don't theory.  Cannot shift duty of care like this.

(b) Standard of care:  burden was on P to show practicality of untaken precaution which would be higher standard of care.
(c) Activity Level:  should the court have examined other possibilities, such as not engaging in activity at all, e.g. putting wires underground?

5. Custom 
a) General:
(1) Third Restatement:  
(a) Compliance with the custom of the community "is evidence that the actor's conduct is not negligent, but does not preclude a finding of negligence, while a departure from custom, "in a way that increases risks is evidence of the actor's negligence, but does not require a finding of negligence."  - compliance and departure are not enough to excuse or find negligence.
(2) Reasons to use custom

(a) Puts people on constructive notice (n/ necessarily actual notice) (Trimarco – glass shower door)

(b) Speaks to the practicality and feasibility of the practice: reflects mass judgment that it’s a good idea

(c) Expectations/reliance of Ps that Ds will adhere to customs

(3) Bargaining theory of when to use custom - look at source of custom – whether it arose out of market conditions where P had chance to bargain for additional investment in safety:

(a) When we use bargaining as a basis for using custom, we assume that the outcome of the bargain reflects the interest of everyone involved in the bargain better than a court would.  

(b) In cases that arise from consensual arrangement, negligence is often appropriate standard for liability, and custom should be regarded as conclusive evidence of due care in absence of any contractual stipulation – have bargained for or against AAC. (professional lawnmowers who have feet cut off, but who have voted with their feet to buy cheaper lawn mowers w/o guards, thus evidencing that they have done internal B/PL and guard is not worth it to them).
(c) When negligence arises from harm to someone with whom D does not have special relationship, negligence should not be appropriate standard, so that reliance on custom is irrelevant, since it is prejudiced in favor of D, and P may have no knowledge of custom and has not had opportunity to bargain for AAC.  (passersby who get hit by stones from lawnmower with no guard).
b) Custom in case law:

(1) Ultrahazardous occupations: 

(a) √  Titus – RR switching gauge cars
(i) Some employments essentially hazardous and an employer is not liable b/c particular accident might have been prevented by some special device or precaution not in common use.  P knew of risk the job he undertook.

(ii) Employer is not bound to use newest best, merely those which furnish ordinary character and reasonable safety - safe according to the usages, habits and ordinary risks of the business.  

(iii) No man is held to higher degree of skill that the fair average of his profession or trade and the standard of due care is the conduct of the average prudent man.  Absolute safety is not attainable and the employer is not an insurer.

(b) !  Mayhew (mining):

(i) It would be no excuse for want of ordinary care that carelessness was universal about the matter involved, or at the place of the accident, or in the business generally.

(ii) Decision here has received little following, either in its own time or later.
(c) !  Bimber v. Northern Pacific:  

(i) Local usage and general custom will not justify or excuse negligence.  Such plans of construction, commonly followed and fortified by years of successful operation, may be evidence of due care, but it cannot avail to establish as safe in law that which is dangerous in fact."

(2) Custom as reflection of undue lag in technical advances:

(a) !  T.J. Hooper (radios on tug boats)

(i) Ruling that "whole calling may have unduly lagged in adoption of new devices" has allowed attacks on standard industry policy in all areas.

(3) Medical Malpractice:
(a) General:

(i) Doctors can use custom to show adherence with duty of care – strong presumption that adherence with custom is enough.  But deviation from custom might be good evidence of negligence when that deviation seems to be in the direction of self-interest. 
(ii) If you want to prove negligence, you have to prove that your doctor did not engage in the standard B/PL process.  In medical malpractice suits, expert witnesses are necessary to establish what the custom is.  
(iii) Why do doctors get such deference?

(a) When we use custom in the medical field, the law is assuming doctors are effectively fiduciaries - assume that there's no reason for the court to do the B/PL to externalize wishes of patients, since the doctors are putting their patients' interests above their own and is already doing a B/PL.
(b) Deep psychological need that doctors will do best for us.

(iv) Why duty to disclose is imposed?
(a) Lack of bargaining relationship between patient and doctor b/c of imbalance in information.

(b) Practice of medicine has changed - Feeling that used to exist in past that doctor always knows best is giving way to informed consent.

(c) Every human has right to determine what shall be done with his own body.

(d) Informed consent is exercise of choice and entails opportunity to evaluate options and risks to make decision about what to be done with his body.

(e) Exceptions – medical emergencies and psychological trauma.
(v) Typical Facts relevant to disclosure:

(a) Inherent and potential risks of proposed treatment

(b) Alternatives to treatment

(c) Risks or results of not undergoing treatment - incidence of injury and degree of harm.

(d) Do not have to disclose standard dangers, such as infection, or hazards that the patient has already discovered, or those not relevant to patient's decision.  -- need conduct prudent under circumstances.
(b) √  Lama v. Borras (lack of adherence to custom in favor of self-interest):
(i) The custom here - bedrest, seems to be counter to the best interests of neurosurgeons, since they make a lot of money from surgery, and very little from bedrest.  
(ii) Doctor deviated from the custom, and the deviation was in the direction of the doctor's self-interest.  It looks easier to assume that doctor was not internalizing patient's interests
(iii) The doctor failed to disclose, so patient has lack of information and lack of choice in market, so court has to find the doctor liable to force doctors to internalize the patient's self interest.  

(c) !  Canterbury v. Spence (no disclosure of risks):

(i) Disclosure rules should focus on nature and content, rather than on patient's understanding, since understanding will vary based on intelligence.

(ii) For public policy reasons, you can't assume patient's will ask about risks, since hospitals treat people from wide range of backgrounds.

(iii) Duty to disclose is not dependent on local medical practices or custom, it should be standard law and divorced from professional and specialty considerations.

c) Problems with using custom:

(1) What if custom incorrectly balances risks?  E.g. workers do not have enough bargaining power to correctly allocate risks, so custom does not reflect socially ideal risk balance  (Titus)?
(2) Want to encourage people to use latest advances and technology and not just use customary techniques.

(3) Not all customs are good - want to discourage bad and dangerous customs.  Collusion within the industry to keep safety measures artificially low to cost less and still not be negligent.  

6. Statutes 
a) General:

(1) Per se presumption or merely evidence of negligence?

(a) Application of statutes as a surrogate for the reasonableness calculation can either mean a per se presumption of negligent (burden shifts to D) or can be simply used as evidence of negligence, but not as conclusive.  
(b) Violation of criminal statutes are usually used as per se presumption of negligence.   

(2) Third Restatement:

(a) Actor is negligent, if, without excuse, the actor violates statute that is designed to protect against the type of accident the actor's conduct causes, and if the accident victim is within the class of person the statute is designed to protect.
(3) Test to determine whether or not violation of statute indicates negligence:

(a) Does statute create federal or state right in favor of P?

(b) Is person suing member of protected class that statute protects?  

(c) Is there indication of legislative intent, explicit or implicit, to imply such a remedy for P and is it consistent with purpose of legislation to imply remedy?

(d) Is the violation of the statute the proximate cause of death or injury to person or property?

(4) Why use statutes as surrogates for reasonableness?

(a) B/PL has already been done by legislature, so it does not need to be redone or contradicted by court to determine negligence.   

(b) Legislative conception of negligence is going to respond to political and social mores in ways that courts might not - will take into account non-economic norms in ways that will be more difficult for courts to do.

(c) Reasonable people do not violate the law - violation of statute serves per se as evidence of negligence

b) Statutes in case law:

(1) √  Osborn v. McMasters (mislabeling of deadly poison):

(a) Violating ordinary statute is negligent when neglecting duty incurs injuries of the character which the statute was designed to prevent, and which were proximately caused by neglect.
(2) √  Martin v. Herzog (failure to have light on buggy traveling on road)

(a) Violation of statute is negligence itself, since lights are intended for guidance and protection of other travelers on the highway.  Must be causal link between violation of the statute and the injury that occurred - absence of lights must be contributory cause of accident.

(b) Other traveler was member of class that statute sought to protect and to whom he owed duty.

(3) !  Brown v. Shyne (unlicensed chiropractor causes injury):

(a) License to practice medicine confers no additional skill upon practitioner or confer immunity from physical injury if practitioner fails to exercise care.  Injury here could have been caused with or without license.  
(b) Must be causal link between statute and injury - injury must follow from neglect to follow statute.
(4) √  Ross v. Hartman (stealing of unlocked car and then 3rd person ran down)

(a) Common knowledge that children and thieves cause harm with unlocked cars - leaving car unlocked could therefore be found to be negligent and proximate cause of injury even in absence of statute.

(b) Violation of statute is enough to determine negligence, since statute enacted to promote safety.  Can be regarded as the causal relation which the makers of ordinance anticipated.

(c) Many jurisdictions have changed statutes about this that explicitly rule out liability in this case.

(5) √  Vesely v. Sager (serving alcohol to drunk man who then drove & killed):

(a) If negligence is substantial factor in causing injury, and person is not relieved of liability b/c of intervening act of third person if such act was reasonable foreseeable at time of negligent conduct.
(b) CA legislature then enacted law which specifically overruled Vesely.

7. Res Ipsa

a) General:

(1) Res ipsa is offered as circumstantial proof in lieu of establishing standard of care or causation when proof not possible (imbalance of information).

(2) It’s not s.l.—fault is still needed, but it can be inferred unless D can dispel the inference.

(3) In inference state, even if D d/n present ev, jury could still find for D—the fact-finder can reject the inference

(4) You can plead res ipsa and specific allegations of negl together since it’s not a doctrine, just a kind of circumstantial evidence

b) Elements of Res ipsa:

(1) Event which does not ordinarily occur in absence of neg.

(2) Must be caused by agency or instrumentality in exclusive control of D.

(3) Must not have been due to voluntary action or omission on part of P.

c) Third Restatement:  

(1) D has been neg when accident causing P’s harm is type that ordinarily occurs b/c of neg of class of actors of which D is member.

(2) This focuses more on who has responsibility, in best position to prevent accident, rather than who had exclusive control.  

d) Reasons to use res ipsa:

(1) Force party with superior information to share it or lose.

(2) Hold party responsibility b/c they are in the best way to decide how to minimize injuries in socially optimal way.  
(3) If we can foresee that certain injuries will arise, then we have a duty to try to prevent that injury - duty to avoid injuries from materializing.
e) Problems with res ipsa:

(1) Ambiguity of "ordinarily" does not occur w/o negligence -What probability do we use?

(a) Probability of injury given exercise of reasonable care is quite small

(b) Probability of injury given reasonable care is smaller than probability of injury given negligence

(c) Probability of injury given reasonable care is much smaller than probability of injury given negligence

(2) D may not have superior information and may not have actually been neg.

f) Res ipsa in case law

(1) √  Byrne v. Boadle (falling barrel from D’s mill hit P):
(a) Falling barrel alone is enough for negligence since it was D's warehouse and D's duty to prevent falling barrels. P is not bound to have to show that it could fall without negligence, but if there are any facts inconsistent with neg, D has to prove them.

(2)  √  Colmenares Vivas (riding up escalator when handrail stopped and they fell)

(a) Accident must be of kind which ordinarily does not occur w/o neg.

(i) Undisputed fact that handrail stopped - handrails do not normally stop on escalators without malfunction and are foreseeably dangers. 

(b) Caused by agency or instrumentality within exclusive control of D

(i) In exclusive control of PA since PA had public duty that was nondelegatable - to maintain safe airport premises.

(ii) Control does not have to be strictly "exclusive", it is enough that responsible for instrumentality exclusively belongs to D - this is enough to eliminate possibility of third party cause.

(c) Must not be due to any voluntary action on P

(i) P's rode escalator in ordinary manner - did not do anything to cause accident.S

(d) Since Port Authority is in best position to know how to prevent escalator accidents (contract out or maintain them themselves), they should be encouraged to use their knowledge and judgment to best prevent harm.  

(3) !  Holzhauer v. Saks: (Escalator stopped, someone fell down the stairs)  

(a) Res ipsa could not be used, since there were other possible causes - e.g. emergency button on escalator pushed by third party.  So exclusive control of act was not in control of D.  D's neg was not the only possible cause.

(4) !  Winans v. Rockwell International: 

(a) Does not have to be single D with exclusive control, but all possible D's with control have to be enjoined.  If not, no res ipsa.

(5) √  Miles v. St. Regis Paper (P injured by logs falling out of D's railroad flat car while releasing one of its binders)  

(a) RR company found to have exclusive control over movement of train, which was judged to be cause of accident.  Ultimate decision to move train was made by D (even though P's company requested move), so D was ultimately in exclusive control. 

(6) √  Benedict v. Eppley Hotel:  (P injured when her chair collapsed)  

(a) Even though P had "control" of chair, D still liable under res ipsa since P was using chair for purpose for which it was designed.  

(b) She had not right or duty to examine chair for defects - had right to assume that it was safe and D had obligation to maintain it in safe condition.  

(c) P is simply a temporary possessor of chair, hotel has incentive and capacity to figure out whether chair is about to fail - P doesn't have info about the chair, if it is too rickety or not.

(7) √  Ybarra v. Spangard (unconscious man suffers injury during surgery):

(a) A person who is unconscious has no knowledge of accident and cannot know what has happened.

(b) Using res ipsa breaks the conspiracy of silence among doctors.

(c) Area of body was not part of the body being operated on - definitely does not usually occur without negligence.

(d) Defense:  Too large a Number of Ds

(i) Respondant superior:  A doctor is liable for nurses or others who become his "temporary servants" during the course of the operation.

(ii) The number of D's does not limit the application of res ipsa.

(e) Statutory limitations on res ipsa in medical malpractice suits (some juris):

(i) foreign substance left in body unintentionally

(ii) explosion or fire originating in substance used in treatment

(iii) unintended burn by heat or radiation or chemicals

(iv) injury suffered during course of treatment to part of body not involved in treatment

(v) surgical procedure performed on wrong limb or wrong patient.

8. Judge Made Rules:

a) Reasoning:

(1) Predictability and uniformity: By establishing rules, people can know what to do to not be negligent - stop, look, and listen, rather than having to do a B/PL each time or putting themselves at whim and caprice of jury.  

(2) (Holmes) Judge decides mechanical rule to serve as a proxy for negligence in the same way that legislature decides rules - through years of experience, judges can do the B/PL better than a jury to create hard and fast rules.  

b) Problems:

(1) Judge made rules may encourage certain parties to take less than socially optimal care:

(a) RR unsafe practices:  Piling up box cars (Pokora v. Wabash), not putting signal crossings, not blowing whistles.  
(b) So if RR are never negligent due to stop-look-listen, then RR might begin a practice of not practicing any care and RR may become more negligent since no incentive exists to practice ordinary care.
D. Cause in Fact
1. Single Defendant
a) Definition

(1) Requires that, as a factual matter, the D’s act contributed to producing the P’s injury.  

b) Tests
(1) But For test:

(a) D’s conduct is a cause of the event if the event would not have occurred but for that conduct; conversely, the D’s conduct is not a cause of the event if the event would have occurred without it.

(b) D does not need to be the sole cause of injury, but the but for test can cause problems when multiple but for causations exist.  One solution can be to hold all jointly and severally liable...

(c) But for can lead to large uncertainty, so need to establish event as direct cause of injury, not fallacy of post hoc, ergo propter hoc.
(d) If negligent act was deemed wrongful b/c that act increase chances of type of accident would occur and mishap of that very sort did happen, that this was enough to find negligence - that there existed a strong causal link.

(2) Substantial Factor test (blend of cause in fact and proximate cause):

(a) If degree of causation is substantial, it can prove cause even if there are other factors involved.
(b) Second Restatement of Torts:

(i) Legal cause of harm if conduct is substantial factor in bringing about harm.  Substantial used to denote D’s conduct has such an effect in producing harm as to lead reasonable men to regard it as cause, in which lurks idea of responsibility.  

(ii) There is no rule of law relieving actor from liability.

(3) Loss of chance

(a) Apply a substantial factor test

(b) Use a proportional approach

(c) The injury described is the loss of chance.  

c) Burden of Proof

(1) Shifting Burden when D’s failure lead to lack of knowledge
(a) Usually on P, unless D's failure directly resulted in lack of knowledge about causal link - e.g. life guard was not on duty when person drowned, thus true events cannot be discovered since there was no witness.  
(b) If what you've done by your negligence is to take away opportunity from P to take away chance to explain what happened, then burden of proof is shifted to D to explain how drowning occurred – like s.l.

(2) Toxic Torts
(a) Substance - substance for which D is responsible can cause injury or disease,

(b) Source - that D and not someone else was source of substance.  

(c) Exposure - And that P was exposed to substance in way that has caused disease.

(d) In some cases, occurrence of disease is substance's "signature", since disease never surfaces without the substance.  Proof of disease therefore equals proof of exposure.  

(e) Standard for review is relevant and reliable.  Old standard used to be what was commonly accepted and standard scientific evidence.  After Daubert v. Merrel Dow, court opened door for minority views & cutting edge experiments.
d) Problems establishing cause

(1) Trying to distinguish correlation from causation in toxic torts (e.g. Agent Orange)
(a) Incidence of cancer in population that has been exposed: 5: 100,000

(b) Incidence of cancer in population at large (unexposed):     3: 100,000

(c) What is P's chance of recovery?  At most she can show 40% probability that there was a causal relationship between her exposure and the manifestation of the cancer.  Even though she can show the dramatic increase (66%), she still can't show that injury was caused more probably than not.  

(d) Small number of incidences – small sample size

(e) Other contributory variables – smoking, sedentary lifestyle, diet, etc.
(2) Determining what expert witnesses to listen to – majority v. minority view.

(3) Determining when to use more probably than not standard:

(a) Using it with 100% compensation is useful measure if we think that negligence greatly increases probability of death - a dramatic increase between two situation.   
(b) But it may not be worthwhile to make individual inquiries as to whether D's conduct did or did not cause increases, b/c we know that when we found a drowned barge captain without buoy, then there is a very significant probably that death was caused by lack of buoy - we are not worried about getting it wrong, since error probability and cost attached is very low.  
e) Case law:

(1) Grimstad (guy on boat falls overboard and drowns):

(a) Proximate cause of his death was his falling in the water and drowning.  
(b) Wife did not show that having life buoy on board would have saved his life, since speculation if he would have been saved by it (response time, ability).
(2) Zuchowicz v. United States (OD of Danocrine causes death)
(a) On basis of medical history, doctors had ruled out other possible causes of PPH – secondary or other drugs, since other drugs similar to Danocrine can cause reaction if OD.  Prior to ingesting drug, she was very healthy.  

(b) Short latency between drug ingestion and disease - very strong evidence.

(c) Beyond finding that drug induced death, need to also prove that negligence caused death, that the OD was the cause of the disease and death, but an OD of drugs is inherently dangerous and dramatically increase the risks.
(3) General Electric v. Joiner (PCBs in dielectric fluid lead to cancer): 

(a) Doctor testified that lung cancer was "more likely than not" promoted by exposure and smoking, but did not nail it down to single source.  

(i) Animal studies that were cited as evidence failed to show direct causal link - they were too dissimilar.  Human studies also failed to show link.
(b) Court is allowed to decide that the analytical gap in the data is too large and thus is not admitted - does not have to simply accept ipse dixit of P's experts.

(4) Herskovits (late diagnosis of cancer, 39% -> 25% chance of survival)

(a) Loss of chance case:  Shift burden to D not to explain how P really died, but shifting burden to find causal relation between P's injury and their negligence and grant damages based on that lost chance.  Does not require P to recover 100% of injuries (unlike Haft, which permitted 100%).  

(b) Oncologists are usually dealing with people with less than 50%, so unless we can reach these doctors this way, then they are totally outside of tort system and have no legally based incentive to act non-negligently.

(c) District sharply split as to whether they adhere to lost chance doctrine. 
2. Multiple Defendants

a) General:  Substitutes liability for risk creation rather than actual cause of injury.  

b) Tests
(1) Joint tortfeasors still have to be found individually negligent to allow recovery.

(2) Two or more joint tortfeasors, or one of two or more wrongdoers whose concurring acts of neg result in injury, are each individually responsible for the entire damage resulting from their join or concurrent acts of neg.  Burden is shifted to Ds to try to prove that each was not at fault.  

(3) Substantial cause test for joint causation:  
(a) Look to which party was substantial cause of harm.  This would eliminate the arbitrariness of liability - liability depending on the source of the other fire.
c) Apportionment of Harms

(1) Second Restatement:

(a) Where there are distinct harms

(b) There is a reasonable basis for determining the contribution of each cause to a single harm.

(c) Damages for any other harm cannot be apportioned

d) Shifting burden of proof:

(1) Burden shifts to Ds to prove that they were not causally responsible, since Ds have superior information.

(2) Difference from res ipsa:

(a) This is different from res ipsa in that it is not a presumption of negligence b/c of the fact, but instead it is presumption of liability due to negligence, even though injury caused by negligence of each individually cannot be proved.  

(b) Ds have created situation in which P could be harmed, and by shooting simultaneously have made it difficult for P to determine who caused harm, and Ds should therefore not benefit from their simultaneous negligence.  

(c) As long as you negligently create a risk, and the risk materializes, then you should be held liable regardless of whether there was another risk that could have caused the harm.  

(3) Can we only suspend causation when someone actually gets injured consistent with the risk was created.  Is risk creation an injury that we want to compensate for?

e) Problems

(1) Overdetermination:  one actor’s negligence may have been enough to cause full injury where multiple exposures

(2) Can cumulative exposure be treated as an indivisible harm, or is it to be treated as joint and several, as a % of fault liability.
f) Case Law:

(1) √  Kingston v. Chicago RR (one fire from RR, one unknown non-natural:)

(a) There would be a difference between a union of two non-natural fires and a union of one natural and one non-natural - then the one non-natural neg party could possibly escape liability since one fire had no responsible origin...Also, if one fire had been much greater and natural in origin, it could have said that it superceded and thus was intervening or greater cause of harm.

(b) Burden of proof shifts to D to prove that the other fire was greater or was natural in origin - burden is not on P since he has established liability on part of originator of fire.  

(c) If you made P establish origin of both, then each D would point finger at the other when both are negligent and it would not permit P to recover and allow both negligent parties to escape.

(2) √  Summers v. Tice (men hunting quail in triangle formation):
(a) Different from Kingston where both A & B were liable - in this case either is liable, but both are held to be causally responsible since one indivisible injury.  

(b) All P has to establish is that is is more likely than not that one of group of Ds caused the injuries and then burden is shifted to Ds.

(c) Although Ds were not acting in concert, they were also not independent tortfeasors and thus can be held jointly liable.

3. Market Share Liability

a) General:  Substitutes liability for risk creation rather than actual cause of injury and apportions damages among risk creators.  

b) When it can be used (from Sindell DES case in CA):

(1) All named Ds are potential tortfeasors

(2) Allegedly harmful products are identical and share the same defective qualities (fungible)

(3) P is unable to identify which D caused her injury through no fault of her own

(4) Substantially all of the manufacturers which created during relevant time are named as Ds.

c) Problems with market share liability:

(1) DES specific issues:

(a) DES has different uses

(b) DES produced in different tablet sizes - difficulty to make inference from gross sales to calculate market share %.

(c) Ps were born in different years and places, when and where markets were differently constituted.

(2) Uncertainty of wrongdoing:

(a) No exculpation for Ds that may be able to prove that they did not cause particular Ps injury.  Share is based on national market.

(3) Insolvent suppliers:

(a) In later cases (Abbot) court changed theory a bit so that Ds were not held liable for share held by insolvent suppliers, so total share did not equal 100%.  

(b) But in DES, all the Ds together were held to be liable for full 100% and if there were missing Ds, then other Ds had responsibility to go after them.  There would be no reason, with the later solution, to not let Ps go after Ds with small share of liability, since Ps would only be able to collect whatever market share % that D represented.  

(4) Underincentives to invest in safety:

	Manu
	A
	B
	C
	D
	E

	Liab
	2000
	2000
	2000
	2000
	2000

	AAC
	500
	0
	0
	0
	0

	EAC
	1000
	0
	0
	0
	0

	Liab
	1800
	1800
	1800
	1800
	1800


(a) So A will essentially have no incentive to invest in AAC.

(b) Even if A, B, C, D each invest 500, E will still have no incentive to invest since they would benefit more by not investing than by investing.  

(c) You could try to get by this by investing in AAC and then differentiating your product.  Then you try to prove that you have engaged in activities that have reduced incidents, so market share is no longer good proxy for determining incidents.

d) Reasons why to use market share liability:

(1) Deterrence:

(a) If more likely than not is used, then no manufacturer would ever be held negligent since each is less than 50% that D's act caused negligence.  

(b) Also, actors might be encouraged to mask their identity - invest more in that than in safety, since if there were no market share liability and they could not be identified, then there would be no liability.

(2) Corrective justice:

(a) Innocent parties should be compensated

(b) Wrongdoers should be penalized - but market share liability doesn't necessarily penalize wrongdoers.  

(c) Penalty that is exacted from wrongdoers should be conferred on victim.  

(3) Superior Information/loss-spreading:

(a) Manufacturer may have a better idea of how much insurance to take based on risk of drug - to know how to price the risk, since when the risk materializes, they will have money to pay for it.  This is a loss spreading argument - the manufacturers are in a better position to insure and pay for the loss.

(4) Judicial Efficiency:

(a) Less litigation, settle it all in one case rather than having multiple cases between Ds to figure out proportion.   

(b) Ds should be indifferent to how liability is imposed - litigating 20% of cases and paying 100% of injury costs, or 20% of injury cost in 100% of cases.  

(5) Concert of action:

(a) The drug companies had some sort of collusion - acting in concert.

e) Case Law:

(1) Skipworth v. Lead Paint (child ingests lead paint, parents sue all):

(a) Relevant time period in question is far longer than timem period in DES case.  DES case - would only be 9 month period during pregnancy.  In lead paint, cannot identify any application of paint which caused health problems - "pinpoint" a hundred year period from time house was built to when paint ceased to be sold.  

(b) Too many manufacturers entered and left the market during this time - so it is virtually certain that some or all pigment manufacturers in suit would be held liable where they could not possibly have been a potential tortfeasor.

(c) Lead paint is not a fungible product - DES manufactured according to identical formula, while lead paint differs in chemical formulation, amount of lead, and toxicity.  So some are more toxis than others - resulting in different levels of bioavailability.  But where formulas of products lead to different toxicity levels, then that adds another variable that can't be accounted for by market share.  So it would grossly distort liability.

E. Proximate Cause
1. Definition

a) Deals with limits on liability for remote or unexpected consequences of tortious conduct.  

b) The proximate cause problem is one of “legal cause” to emphasize that the issue is whether liability should be imposed, not whether D’s act was a cause-in-fact of P’s harm.  “What shall be done about the harm?”

2. Tests
a) Directness test (Polemis):

(1) Separate and independent causes of harm not connected to the injury in dispute are merely fortuitous and should not bear on case.  Proximate cause means unbroken continuity between cause and effect.
b) Foreseeability/scope of risk

(1) If P’s injury is beyond the type of harm to be expected, there is no recovery – the liability should not be extended to consequences radially different from those to be anticipated (Palsgraf).

(2) Where particular type of injury foreseeable, but more serious than expected, D liable (thin-skulled rule).

(3) Foreseeable injury in unforeseeable manner, D liable - whether general nature of injury was expected. (Polemis).
(4) Does not have to be likely or probable risk to be foreseeable (Kinsman).

(5) At rest in position of safety vs. position of harm (blasting cap kids, Marshall):

(a) When D's active force has come to rest in dangerous position, creating new or increasing existing risk of loss, and foreseen danger comes to pass, D is liable since injury was proximate consequence of D's act.  

(b) When D's active force has come to rest in position of safety, then if a new force later combines with this condition to create injury, then result is remote from D's first act and D is not liable.

(c) Intervention of competent third parties renders original negligent party non-liable (i.e. should now be in position of safety)

c) Intervening 3rd parties
(1) Negligent or malicious intervening acts:

(a) Holding first actor negligent despite intervening acts of third parties can sometimes turn on whether intervening acts are malicious or just merely negligent:  

(b) Court held that jury should decide negligence of train company for spill based on intervening third party's intent, since negligent first actor should reasonably foresee other party's negligent actions, but not be responsible for malicious actions.  

(2) Restatement (Second):  creation of risk from 3rd parties
(a) If the likelihood that a third person may act in a particular manner is the hazard or one of the hazards which makes the actor negligent, such an act whether innocent, negligent, intentionally tortuous, or criminal does not prevent the actor from being liable for harm caused thereby.
(b) If negligent first actor creates situation which afford opportunity for third person to commit tort or crime and actor should have realized this opportunity, then he is negligent.  

(3) Emergency doctrine/non-negligent intervention of 3rd party
(a) If the last actor acts in a praiseworthy or blameless way (saving a child's life) or the actor is an infant or incompetent, then the chain of causation is not broken, especially when actions of last actor are not tortious.  

d) Danger invites rescue (Cardozo in Wagner)
(1) D whas negligent to person rescued and such negligence caused peril or appearance of peril

(2) Peril or appearance of peril was imminent

(3) Reasonably prudent person would have concluded such peril or appearnce existed

(4) Rescuer acted with reasonable care in effectuating rescue.

e) Foreseeability/scope of risk – economic analysis

(1) It gives rational decision makers a prospective view, such that the decision maker has an incentive to incorporate costs to others in decisions whether to engage in activity, to decided whether decisions are efficient from an aggregate point of view.

(2) Palsgraf represents the fact that tort law does not require individuals to consider costs to persons to whom harm is not reasonably foreseeable,.  Unforeseeable harm cannot be internalized and will confer no economic benefit , only costly transfer of payments.

f) Successive causes of injuries:  

(1) When second act dependent on first (only exposed to second b/c of negligence of first), second actor liable only for additional injuries beyond first act.  

(2) Where decedent was deprived of life too short to be measured, damages are negligible (where he would have died anyway).

3. Problems with proximate cause:

a) How you describe risk of injury and events impacts proximate cause.

b) Where to cut off liability?

(1) Should we cut off liability at the point where consequences are foreseeable?  Is maliciousness or incompetence foreseeable?

(2) Or should we look at each of the risks individually, and see where the burden of prevention lies?

(a) X's intervention (mistakenly pouring gas on fire) was so remote that you couldn't say that you were negligent in D not foreseeing it.  

(b) Having avoided the first negligent risk (the fire), the marginal cost of avoiding the second risk is zero, since second risk is dependent on first risk and would not occur without it.  B < P1L1 + P2L2, P2L2 goes to zero when P1L1 is zero.  P2L2 is unforeseeable, so we shouldn't take this into account.  

c) Problems with creating deterrence when harm is unforeseeable
(1) If what we're trying to do is to create incentives for individuals to act is socially desirable ways (efficiency, obligation to strangers and family, respect for others), then we can compare those risks against risks materializes, but all we can expect from that person is that they will ponder what will happen based on if they act in a negligent manner.  

(2) If what we mean by something is unforeseeable, then when rational individuals won't be able to foresee it and factor it into their risk averse behavior, then making them liable for it will not have any affect on their behavior since they would not be able to foresee it and change their behavior in the first place.

d) Problems with compensation for unforeseeable acts:

(1) If what we want in the tort system is compensation, then we compensate despite the fact that an intervening act is unforeseeable.

4. Case Law:

a) No recovery for policy reasons

(1) !  Ryan v. NY Central RR (spark from engine lit house 130 ft. away on fire):

(a) Court rules that D is not liable, since cause is too remote, it is not proximate.  The court does not know where to draw the line between liability and no liability - if fire spreads from house A to B to C ...Z, at what point do you limit liability?  Ryan rules D is only liable for fire to first building.

(b) Rules that there are too many intervening possible causes in fires - wind, heat, human activity, water availability, other accidental circumstances.  

(c) For policy reasons, there would be too much potential liability - one fire could result in lots of liability and burn down entire community.

(d) Individuals can insure for their own houses, but should not have to insure their neighbor's houses, since insurance companies should cover it. 

b) Not actual cause of accident

(1) !  Berry v. Sugar Notch Borough (speeding tram has tree fall on roof):

(a) Violating ordinance and speeding was not cause or contributory cause of accident.  D's speed brought him to place of accident, but it was mere chance that speed and not some other intervening factor - earlier departure time, etc.

c) Too attenuated

(1) !  Lone woman let off one train stop too late/kerosene lamp:

(a) Cause was too attenuated, can't say but for train stopping too late she would not have been injured, since negligence of proprietor of hotel was direct cause of injury rather than train company.

d) Intervention of competent third parties

(1) !  Blasting cap kid:

(a) Intervention of competent third parties (parents) renders original negligent party (blasting company) non-liable.  

e) Danger that materialized is reasonably foreseeable

(1) √  Lone woman let off in middle of field:

(a) Where train company could have reasonably foreseen injury, such as dropping off a lone woman one mile from her stop in the middle of the night, where she was raped twice, negligence can be held - intervention of third parties not bearing on situation.

(2) √  D is watchman for P's plant.  While on duty, D falls asleep negligently, and X sets fire to the plant.  Had D been on awake, then arsonist would not have been able to set fire to the building.  

(a) No negligence b/c intervening act was malicious and not foreseeable.

(b) But what was the purpose of having the watchman on duty - to protect from the very harm that the negligent actor was there to avoid in the first instance.

(3) √  Suicide after accident:

(a) Jury is allowed to decide if suicide was rational act of sound mind or irrational act of deranged mind that had been physically damaged by accident.

(4) √  Brower v. NY Central RR (wagon destroyed at train crossing):

(a) Through collision, D deprived P's drive of senses and ability to protect contents of his wagon and collision was proximate cause of theft.

(b) Natural result of P's inability to defend wagon in street of large city was that thieves would steal goods.

(c) RR company obvious foresaw that theft could happen, since they employed two detectives to watch out for cargo of train.

f) Danger invites rescue

(1) √  Wagner v. Internat’l RR (cousin falls out and P looks and falls off trestle):

(a) Danger invites rescue - cry of distress is summons to relief.  The wrong that imperils life is wrong to victim and is also wrong to rescuer.

(b) No reason to shorten chain of causes - Peril and rescue are one transaction, one arouses the other, and no length of time for deliberation breaks the causal chain or continuity.

(c) Tortfeasor owes duty to rescuer and rescue doctrine negates the presumption that rescuer assumes the risk.

5. Last Clear Chance

a) Principles

(1) Party who had last clear chance to avoid accident, but doesn’t, is liable, even if other person was contributorily negligent.  Essentially doing B/PL to say person who in best position to avoid accident, but doesn’t, should be liable.  

(2) Splits the difference by placing loss where it best reduces likelihood of harm – bites where it would most be effective, since if D has last chance, he know it will apply to him, whereas P cannot rely on it.

(3) Requirements

(a) P is inattentive or helpless through own contributory negligence

(b) D is negligent in failing to use ordinary care to avoid accident when he

(i) Knows of Ps situation and knows of peril

(ii) Would discover the situation and have reason to know of peril if he were exercise ordinary care.

(4) Incentives

(a) Increases Ds incentive to avoid accident where contributory negligence could reduce it.
b) Case Law

(1) Fuller v. Illinois RR (70 year old riding wagon across RR track)

(a) 600 straight feet stretch – only takes RR 200 ft. to stop.  RR could have stopped or blown whistle and had last clear chance to avoid accident.  P could not move quickly to avoid, RR was in better position.
(b)  Since they chose not to avoid (incorrect B/PL and willfullness) they are liable.  

(2) Woloszhyn v. NY Central RR (man lying on tracks, Ds didn’t stop until 3rd time to check)

(a) Twice disregarded emergency equipment and didn’t stop to look until third time brakes tripped
(b) Lack of knowledge came through willful indifference to emergency equipment – P could have lived.

F. Defenses

1. Breach of Duty - General
a) Statutes
(1) Purpose of statute was not to prevent injury which occurred

(2) P was not within class of Ps that statute designed to protect

(3) Compliance was a greater risk than violation – emergency situation

(4) Lack of knowledge about the statute (in some cases, but others knowledge is implicit - driving)

b) Res ipsa

(1) Can prove the actual cause of injury

(2) Attack each one of the elements (no exclusive control, P’s contributed)

(3) Show that you exercise due care in general – high standards, but this can also prove that the accident would not have occurred except with negligence.

c) Lack of Capacity
2. Breach of Duty - Assumption of Risk

a) Definition

(1) Depends on continued willingness to work in face of known risks.

(2) Once P has been warned of risks, it may serve as defense for D.

b) Theories

(1) Bargaining and freedom of contract

(a) If workers did not really have bargaining power since there was no collective bargaining power to ensure fair wages for dangerous jobs, then individual was not adequately compensated for assuming risk.

(b) Risk premium - Or it could be held as a freedom of contract – to bargain for higher wages in the face of higher risks.  

(2) Replacement for B/PL?

(a) Why should it serve as a defense/replacement for B/PL when the same examination should be done – whether a reasonable person, with knowledge of the risks, would have proceeded, B > PL?

c) Past law

(1) Fellow servant rule – servants have assumed risks that other servants pose to them – master does not have to indemnify servant against neg of anyone other than himself.  Ordinary casualty or accidents in the line of work are not actionable.  

(2) Vice-principal rule – certain duties of employer done by supervisors were not delegatable – property equipment, safe workplace, etc.  Functioned as exception to fellow servant rule.

d) Case Law

(1) √  Lamson v. American Axe (hatchet rack falls on hatchet factory employee where employee had already complained of instability of rack and was told to leave if he wanted to)

(a) P knew of risks (manifested by complaint) and chose to stay.  He had already done an internal B/PL and decided that the burden was less than the risks, so jury should not question that B/PL.

(2) √  Murphy v. Steeplechase (amusement park with “Flopper” – moving conveyor belt)

(a) Risks of ride were patent and known to P, were part and parcel of ride itself

(b) Risk that materialized was risk that was expected and foreseen – falling.  The fact that greater consequences resulted is of no import.  

(3) !  Marshall v. Ranne (mad boar biting P, where P knew and could have shot boar)

(a) P did not have free and voluntary choice – more of a choice between two evils – staying in house or illegally shooting and destroying someone else’s property.  It meant either surrendering a legal right (freedom of movement) or infringing on another’s legal right (freedom from interference with property).

(4) Other examples of assumed risks

(a) Amusement park rides where ticket or sign tells P that he assumes all risks and warns of those risks.

(b) Spectator sports where common knowledge that risks are inherent (especially if frequent fan).

(c) Professional athletes (have high degree of skill and familiarity of risks).

(d) Recreational sports – ice skating.

(e) Professional firemen and policemen, but not emergency technician.
3. Cause In Fact - Contributory Negligence

a) History
(1) In the past, a ruling of contributory negligence was a complete defense for D – no liability.  Development of doctrine was in 19th century – high individualistic attitudes, as well as wanting to control jury awards.  
(2) The symmetry for this existed b/c if two more more jointfeasors could be held fully liable for the full harm, then P similarly could be held fully liable for full harm as a “joint tortfeasor.”

b) Principles

(1) P’s negligence functions as an intervening proximate cause.
(2) Contributory negligence functions to punish P for his negligent actions – come into court with clean hands.  
(3) Burden was generally on D to show that P was contributorily negligent.   In practice, D was held to utmost care standard usually, while P was held to weakened standard.  
(4) Does non-negligent defense based on Hand formula obsolete contrib. neg. defense?  Contrib. neg offers buffer against uncertainty of application inherent in Hand B/PL.

(5) pari delicto - means equal fault, but tries to measure who has greater fault

c) Incentive effects

(1) If D is non-negligent, then P must bear his own losses.

(2) Can’t depend on potential D being negligent, so it is odd that P would not opt for optimal care given that you may have to bear your own losses.  

(3) So you start with system of contributory negligence, and if P doesn’t take care, you can’t throw losses on someone else.

(4) But does it also function to encourage D to not avoid accidents where he knows that P is also neg?

d) Contributory negligence in strict liability cases.  

(1) B/PL should decide between two conflicting activities (hayrick v. RR) to decide where the burden of loss should lie – whomever has cheaper prevention burden.

(2) There is a reciprocal duty between parties with two conflicting activities.  Property rights does not trump all else.  

e) Defenses to contributory negligence

(1) Emergency doctrine and moral duties – trying to save a child (Eckert) made choice reasonable

(2) Last clear chance

(3) Weakening language of ordinary care standard for P
(a) P was not required to exercise “great care” or behave in “timid of cautious way”

(b) P could not be proved by “indiscretion” or “misjudgment” applied ex ante

(c) If P was startled or alarmed or momentarily distracted, this falls short of want of ordinary care since it happens to many people on city streets – ordinary occurrence.  

f) Case Law

(1) √  Butterfield v. Forrester (guy riding horse who ran into pole across road)
(a) One person being in fault will not dispense with another’s using ordinary care for himself.

(2) !  Beems v. Chicago (guy who was uncoupling rail cars who got his foot stuck in track & died)
(a) Mere accident (getting foot caught) does not mean want of ordinary care by P.  P signaled twice and signal was not obeyed – he followed custom and procedure & it was D’s deviance from custom & care that caused accident.

(3) !  LeRoy Fibre v. Chicago RR (hayrick stacking near RR tracks – spark from engine causes fire)
(a) Cannot limit property rights by potential wrongs of other – RR and hay stacking is legitimate use.

(b) Dissent:  Holmes:  B/PL by jury should decide neg.  - whether 70 ft. too close.
4. Cause in Fact - Comparative Negligence

a) Definition
(1) Pure contributory negligence

(a) Fault is directly apportioned out according to % - P can be more than 50% liable and still recover

(b) Decisions as to neg apportionment would not be binding on absent parties
(c) Does not apply to willful misconduct – disallowing defense is b/c D’s conduct was so different in “kind” from P’s that D is not excused – the basis is culpability rather than causation.

(2) 50% system

(a) Only apportions harm up to point at which P’s negligence is equal to or greater than that of D

(b) But what about multiple D’s

(i) Can only collect when Bp < Bd1, Bp < Bd2 – can only collect when P’s neg is less than D’s.
(ii) Or  Bp < Bd1 + Bd2

b) Contributory Negligence v. Comparative Negligence
(1) Contrib. negligence gave way to comparative neg through legis and judicial decisions.

(2) Does away with last clear chance and merges assumption of risk

(3) Incentive Effects:

(a) Scenario 1:

(i) Harm = $1000,  P and D both know about opportunity of each other to avoid injury

(ii) 
AAC

Responsibility (B/PL)

Cost if injury

(iii) D
$100

2/3



666

(iv) P
$200

1/3



333

(v) Burden on P is twice as much, so if D doesn’t avoid injury, then he is twice as negligent as D.

(vi) Therefore, if D and P are both risk averse, then both will avoid since it is cheaper.

(vii) Will this be the socially beneficial result?  Perhaps not, since it is an overinvestment in AAC.  

(viii) Contributory negligence regime:  P and D have strong incentives to avoid accident if both parties acting in ignorance of what each other is doing.   But if D knows that P can avoid, then D will rely on P to take care, since if P does not invest, then D does not have to pay at all.  

(b) Scenario 2:

(i) 
AAC

Resp

Cost

(ii) D
400

2/3

666

(iii) P
800

1/3

333

(iv) D will still avoid, since avoidance is still less than cost.  If D avoids, then there is no injury and P is fine.  If D does not invest, it is still not worth P’s while to invest since they will only have to pay 333 instead of 800.  This may get the incentives just right, since we want one party to avoid and we want that party to be in the best position to avoid.  

(v) This makes it hard to determine whether comparative neg gets incentive rights, since it is highly scenario dependent.  

c) Case Law

(1) Li v. Yellow Cab (P had crossed 3 lanes of traffic to get gas, D struck her car)

(a) Does away with contrib. neg. and judicially establishes comp. neg in CA.
IV. Affirmative Duties

A. Reliance/Creation of Risk/Promise of Aid
1. Intro
a) Nonfeasance is failure to act when duty existed.  

b) Affirmative duties to rescue are generally not imposed unless some sort of special relationship or reliance exists.

2. What gives rise to a duty?

a) Key is to look to reliance, dependence, control of the situation, and benefit to D.  If there’s a reasonable expectation of a duty, esp. if s/o relies on it, there often is a duty.  
b) Special Relationships
c) Relationships of dependency
(1) Joint undertaking can give rise to a duty if there’s dependency (Farwell, rock climbing)

d) Induced reliance/starting to give aid (Zelenko, Black)
(1) Liability for Starting to give aid and then stopping (Restatement § 324).  
(a) Failure to exercise reasonable care to secure safety of other.

(b) Discontinuing aid or protection of by doing so leaves other in worse position than before.

(2) Offering to aid creates a type of special relationship that may create a duty.

(3) Actual reliance of P is needed for liability

e) Prevention of 3rd party from rendering aid (Soldano)

(1) Restatement §327 for liability

(a) Knows or has reason to know that 3rd person is going to give aid to prevent harm

(b) Negligently prevents or disables third person from giving aid

f) Explicit exchanges or promises 
(1) If D performs her promise, but does so negligently, some courts find liability b/ others d/n

(2) Deriving economic benefit from someone could give rise to a contractual duty 
g) Creation of dangerous situation or risk (Montgomery Trucking)
(1) If you create a situation that hurts someone or could hurt someone, even if your act was nontortious, this creates a duty to prevent further harm (Restatement §§321-322) (CA drivers manual – if you are involved in injury accident, you are required to stay until police arrive and render aid)
(2) This would not always the case: used to be that if you caused injury nontortiously, there was no duty.

h) Differential knowledge of risk does not give rise to a duty (Harper)

i) Restatement §314 and §321: 

(1) Common carriers, inkeepers, possessor of land to invitees, one who voluntarily takes custody of another and thereby denies the other his normal opportunities for protection (Zelenko).  
(2) Employer has duty to protect endangered or hurt Employees.

(3) An act gives rise to a duty to warn if dangers are discovered later

(4) Adopts the test of whether a reasonable person would leave off aid.

(5) Does not address whether merely promising performance creates an affirmative duty.  Courts have seized upon trivial things as “beginning performance” in order to impose an affirmative duty.
3. Reasons not to impose affirmative duties

a) Individual autonomy
(1) Each has ability to decide his own actions and be free from interference
(2) Bystander did not create the risky situation, so they have no duty to rectify it.

(3) Requiring some to act is great interference w/ liberty – to make a man serve another is like slavery, while forbidding him to harm others leaves him still essentially free.  

b) Collective action problem (drowning at beach, car pulled over on side of road)

(1) The person who acts may not necessarily be the best person to act, and his action may prevent someone more qualified from acting, since the more qualified person already sees someone aiding.

(2) May also induce noone to act, since everyone else thinks that someone will aid.

c) Forced exchanges create slippery slope

(1) Forced exchanges will create a situation in which it will no longer be possible to delineate sphere of activities where contracts are necessary.  

(2) How do we define obligations if we start down the slippery slope of enforced exchanges – how do we define the end of forced exchanges – where individual liberty ends and obligation begins.  

d) Internalized B/PL – other reasons for not acting

(1) Some people are moral monsters...Bad Samaritans.

(2) Emotional conflicts - Fear of acting: Injury, mugging, etc.

(3) Time – other things to do.

(4) People are doing a personal B/PL – their personal inconvenience is very high.  
e) Difficulty in judging ex post what was “easy” vs. “hard” resuce

(1) If person did internal B/PL incorrectly, then they would be punished for a risk that they did not create.

(2) Weighing internalized emotions (fear vs. helping someone)
(3) Some situations might look like clear B/PLs, but they may have inherent ambiguity.
(4) Difference of ex post vs. ex ante view – hindsight is 20/20

4. Reasons to impose affirmative duties on “easy” rescues

a) B/PL defines social utility

(1) Burden could be much lower that PL – if we look at this ex ante, then we should enforce liability since it is the definition of negligence.  

(2) People are not doing an adequate B/PL when making their decision – it should enforced on them.  

b) Reciprocity

(1) Security that if you need aid, someone will aid you, and you will also give aid.

c) Consideration is not just individual interests

(1) A stranger is never isolated, they are always part of a web of connected people – a community.  Harm to one means harm to many others.

d) Means of enforcing what parties would have otherwise bargained for if time

(1) Transaction costs for bargaining in these situations are high – liability would be a means of carrying out the original desires of parties just as if it were an express contract being enforced.    
(2) Tort duties could be viewed as devices for vindicating the principles that underlie freedom of contract.  

e) VT statute

(1) Requires people to rescue, unless it interferes with important duties to others or that assistance can be rendered without danger or peril to himself or assistance is already being rendered.  If they don’t, they’re fined $100.  

(2) Violation of statute can be used as per se negligence. 

(3) Statute imposes a B/PL, possibly thinking that people will get the internal B/PL wrong...

5. Case Law
a) Creation of dangerous risks/aid undertaken/duty to rescue
(1) !  Buch v. Amory (duties owed to trespasser – small boy in mill)

(a) Large difference between causing and preventing injury – duty to protect against harm is only a moral duty.

(b) Infants are liable for their trespasses

(c) After warning him, no duty to forcibly eject him to protect him from harm

(2) !  Yania v. Bigan (strip mining – friend dared to jump in cut & guy died) 

(a) Guy was adult with full mental capacity – made his own dumb choice

(b) No legal duty to rescue him unless he directly caused risk

(3) √  Montgomery v. National Trucking (duty to warn – truck stopped on icy hill)
(a) Failure to warn created dangerous risk.
(b) Omission of warning was negligent and willful.  

(4) !  Louisville RR v. Scruggs (RR blocked firetruck from laying house to put out fire)

(a) D’s use of land was “passive”, so D had no duty to preserve or aid another’s property

(b) D could be liable if firetruck had already laid hose and D interfered with rescue

(5) √  Black v. NY RR (D RR workers carried drunk P out of train and left him at top of stairs, which he fell down)

(a) Once they had started to help him, they were bound to use ordinary care in what they might do to affect his safety – leaving him at the top of the stairs was negligent.

(6) √  Zelenko v. Gimbel Bros. (P fell ill while in store and D’s nurse aided her, but did not take him to hospital – left her alone in room)

(a) Started to render aid which prevented others from coming to aid

(b) If D undertakes rescue, even under no duty, will be held to reasonableness test – negligence.

(7) √  Soldano (Guy asks to use phone to call police to help friend, bartender denies him)

(a) He negligently interfered with 3rd party’s attempt to render aid

b) Misfeasance vs. nonfeasance

(1) Weirum v. RKO (DJ announced contest, teenagers sped to be 1st there and died)

(a) Contest’s intent was to generate competitive pursuit to be 1st to arrive

(b) No nonfeasance – failure to act – & instead misfeasance – creation of unreasonable risk of harm to P.  

B. Special relationships
1. General
a) Generally no duty to actually control 3rd party’s behavior, but an affirmative duty to warn may exist if there is a special relationship. 
b) May be easier to use risk creation argument (wife gave drunk husband her car keys) than duty. 

c) Types of special relationships

(1) Automatic duty – extension of voluntary undertaking of duty
(a) Spouse (through legal matrimonial vows)
(b) Parent/Child 
(c) Doctor/Patient (professional duty of care – sworn by Hippocratic oath)
(d) School/child (officials take charge with knowledge of their need for protection)

(e) Prison/inmate (taking charge of prisoner and depriving him of ability to act for own protection)

(f) Employer/employee (Employer in best position to mitigate harm, employee on premises for benefit of employer)

(2) Others may be more hazy

(a) Friend, Acquaintance, Business Partner

(3) Special relationship creates kind of sign to other person  – I’m the person who will rescue you.  With respect to you, I am the person in the best position to rescue.  

d) Exceptions to duty rule – other public policy considerations (Soldano):

(1) Foreseeability of harm

(2) Degree of certainty

(3) Closeness of connection between D's conduct or failure to act and injury

(4) Moral blame

(5) Public Policy of preventing future harm

(6) Burden to D

(7) Consequences to community of imposing duty and liability for breach

(8) Availability and cost of insurance to insure against risk.

e) Boundary issues with affirmative duties to control 3rd party’s behavior:

(1) Where does doctor/patient privilege end and obligation to protect society begin?  This case says it ends where there is a definite danger to a specified individual.  Public policy dictates that societal interests are greater than confidentiality interests.

(2) Does level of control over third party control level of responsibility?  If a patient is an outpatient rather than committed or incarcerated, does it create a different level of responsibility and duty?

(3) When does special relationship created by doctor/patient end - after how long, when patient declines voluntary treatment, etc.?

2. Case Law:

a) Mental patient and hospital

(1) √  Hospital can be liable if it negligently permits escape or release of dangerous patient

b) √  Parents of baby negligent for failing to warn babysitter of child’s violence

c) √  State negligent for failing to warn foster parents of violent child

d) √  Sheriff negligent for promising to warn decedent of prisoner’s release & failing

e) √  Tarasoff v. UC Berkeley (psychologist’s failure to warn woman of ex’s death threats)

(1) Special relationship existed between psychologist and ex

(2) D owes duty of care to all persons who are foreseeably endangered by his conduct

(3) 3rd party only owes duty when he has taken on special relationship to dangerous person or victim

(4) Courts generally hold that for duty to warn, has to be grave risk to specific individual.

(5) Only duty to warn is upheld – no duty to provide actual protection.  

(6) Diverse levels of control (outpatient v. inpatient, consistent v. casual) mean diverse levels of responsibility – less control, less duty.  

V. Nuisance

A. Introduction

1. Type of injury: 

a) The term "nuisance" refers not to a type of tort, but to a type of injury which P has sustained. In the case of "public nuisance," the injury is the loss of any right that P has by virtue of being a "member of the public. " In the case of "private nuisance," P’s injury is interference with his use or enjoyment of his land. 
2. Acts giving rise to nuisance
a) intentional interference with P’s rights; 

b) negligence

c) abnormally dangerous activity or other conduct giving rise to strict liability.

B. Public Nuisance
1. Definition: 
a) A "public nuisance" is an interference with a "right common to the general public. "
2. Factors: 
a) type of neighborhood 
b) the frequency/duration

c) the degree of damage

d) social value of the activity. 

3. Requirements

a) Substantial harm required
(1) A public nuisance will not be found to exist unless the harm to the public is substantial.

b) Must injure public at large: 
(1) P must show that there has been actual injury, or possibility of injury, to the public at large (not just P himself).

c) Need not be a crime: 
(1) It is no longer the case that for conduct to be actionable as a public nuisance, it must also be a crime (though the fact the conduct is a crime will make it more likely to be held to be a public nuisance). 

d) Requirement of particular damage: 
(1) A private citizen may recover for his own damages stemming from a public nuisance, but only if he has sustained damage that is different in kind, not just degree, from that suffered by the public
C. Private Nuisance

1. Definition

(1) “Nontrespassory invasion of another’s interest in the private use and enjoyment of land”

(2) Includes more than freedom from detrimental change in physical condition of land – it “comprehends the pleasure, comfort, and enjoyment that a person normally derives from occupancy of land.”

2. Requirements

a) Intentional Invasion: 
(1) In nuisance cases, D’s conduct will be deemed "intentional" even though D did not desire to interfere with P’s use and enjoyment of her land, as long as D knew with substantial certainty that such interference would occur. 
(2) Example: In the above example, if P put D on notice that pollution was occurring, and D continued with the conduct, the continuing conduct would be deemed intentional, and D could be liable for nuisance.
b) Unreasonable Invasion

(1) Restatement §826 - Unreasonableness of Invasion
(a) Gravity of harm outweighs utility of conduct

(b) Harm caused is serious and financial burden for this and similar harm to others would not make continuation of conduct not feasible.  (in other words, could still stay in business).
3. Limitations on Nuisance
a) Locality rule

(1) Reasonable use of property cannot be defined by certain rules, but must depend upon circumstances of each case.
(2) A use of property in one locality and under some circumstances my be lawful and reasonable, which under other circumstances would not.

(3) Use must be such as to produce a tangible and appreciable injury to neighboring property, or such as to render its enjoyment specially uncomfortable or inconvenient.

b) Live and Let live for minimal harms
(1) Acts necessary for common and ordinary use and occupation of land and houses may be done w/o submitting those who do them to action.  Reciprocal nuisances are to be tolerated.

(2) So when the cost is so small from the damage from the nuisance as compared to the avoidance of the nuisance, then we will not allow liability for nuisance.
4. Types of Nuisances

a) Anything injurious to health, including, but not limited to (CA civil code)

(1) Illegal sale of controlled substances

(2) Sale of goods Indecent or offensive to senses

(3) Obstruction to free use of property to interfere with enjoyment

(4) Obstructing free passage of waterway, park, highway, square, street, etc.

b) No need for actual physical invasion

(1) Nuisance does not need to be actual physical invasion of land - only an infringement of the interest in the use and enjoyment of land.  Court interprets nuisance broadly and flexibly to adapt to changing social values and conditions.

5. Case Law

a) !  Vogel v. GLEC (stray voltage going through farm structures) -> unintentional invas. actionable under neg.
(1) D's claim that there cannot be a nuisance since P invited instrumentality onto their land.  But court does not buy that, since Ps requested electrical power, not the stray voltage which caused the problems.

(2) Not unreasonable or intentional:  No sign that the company intended to interfere with the enjoyment - that nuisance can only be intentional if D continued to impose nuisance after they knew of the effect of the stray voltage.  Ds immediate response negated liability for the nuisance since it worked to fix the problem.  

b) √  Morgan v. Penn Oil (noxious odors being discharged from oil co)

(1) Emission of dust or fumes can constitute invasion.

c) !  Martin v. Reynolds (fluoride gas settled on adjacent land, now unfit for grazing)

(1) Ds conduct was trespass rather than nuisance (statute of lim. applied to nuisance), but question of trespass or nuisance turned on substantive issues – definition of coming to nuisance inapplicable to trespass.

d) √  Puritan Holding (leaving building vacant and in disrepair)

(1) Conduct was nuisance since property values in area had risen and the building caused loss in market value of surrounding homes.  If area was not affluent, would not have been nuis.

(2) Conduct violated ordinance requiring vacant buildings to be sealed or guarded.

e) !  Merriam v. McConnell (bugs infesting trees)

(1) Not a nuisance since D did not place them there – no act

f) !  Adkins v. Thomas (fear of invasion of toxic leaks)

(1) Sought damages for unfavorable publicity that leaks would cause contamination, and hence diminution in property values – negative publicity is not significant interference with enjoyment of land.

g) √  Jost v. Dairyland (sulphur being emitted and damaged P’s land)
(1) Unreasonableness of invasion requirement (Ds were in compliance with industry standard) was irrelevant since discharge caused substantial damages.  Held to more of strict liability standard.

h) !  Boomer v. Atlantic Cement (cement plant emitting dirt and smoke)

(1) Being able to reduce air pollution depends on large amount of technical research and large public expenditure to measure health risk against economic benefits - something the court is not equipped to balance and judge.

(2) Damage to the private property is small as compared to the value of Ds operation for public good - an injunction would have an overall negative effect on society at large.  
D. Remedies

1. Compensation

a) When used, §826(b):

(1) When an intentional nuisance is committed, but the B/PL says that activity is more beneficial than harm it is causing, then damages will be paid rather than an injunction.

b) Just because D can pay damages, is D entitled to pay damages rather than having to cease the nuisance?

2. Injunction

a) When issued, §826(a):

(1) Strict liability in torts only really applies to intentional nuisances:  If an activity is just so socially unbeneficial and harmful that the costs of doing the activity outweigh the benefits -  this is when an injunction would be used.  

3. Pay off polluter not to pollute

4. What governs rule to be used

a) There could be any number of rules that could reflect any one of four results (injured<-damages || injunction, nuisance causer<- damages || injunction) - could find rule to enforce any one of those possible combinations.

b) Bargaining should govern rule decided by parties
(1) Initial entitlement goes to party who has cheaper bargaining costs so an informational asymmetry now forces one party to start the bargaining.  

(2) If we had a true bargaining system, would it matter to us if an injunction were issued or if damages were awarded?  The company could then always go back to the party getting the injunction to bargain to get them to give up the injunction.  

(3) Bargaining may fail:

(a) Party with injunction may be able to use position of power to get more than actual damages to them - it wouldn't be value to them, it would be value to company to keep operating.

(b) Acrimony between the parties after court suit may prevent real bargaining from taking place.

(c) Idiosyncratic non-monetized values that affect the bargaining process - not rational self-interested people.

(d) Multiple parties involved that make bargaining process inefficient.  The last person to settle the injunction may be able to drive the bargain very high - right to the margin where the company is no longer profitable. This makes transaction costs very high during bargaining, so the initial determination and B/PL calculation - damages or injunction, is very important.

(e) Damages are very difficult to calculate.  Then maybe we do want parties to bargain since they might have a better idea of their damages than court could verify.

(4) We want to get default rule right if we think bargaining will be very difficult - in this case we want to make sure we get the entitlement right - damages if they can be calculated, injunction if it is not a socially useful activity.  

c) To create certain incentive effects
(1) What incentive effects will permanent damages have vs. an injunction?  There are no incentive effects to alleviate harm once permanent damages have been paid, and cement pollution is a significant source of particulate matter pollution.  

d) Legislature should decide

(1) Issuing an injunction is almost like taking the use of the private property away for a private use - the private suit - rather than having the legislature ban the activity for the public good.  Court is not in a good position to do the B/PL to weigh jobs against pollution.  

(2) Total damages to P's property is small compared to D's operations although they are not insubstantial, so the inefficiency of issuing an injunction would outweigh just paying damages.  The court is in a bind b/c it is allowing a significant harm to continue to occur, but they don't want to be in a position to manage air pollution.

VI. Strict Liability

A. Introduction
1. Definition

a) Strict Liability, §519

(1) One who carries on abnormally dangerous activity is subject to liability for harm although he has exercised utmost care.

(2) Strict liability is limited to harm from abnormally dangerous activities.

b) Abnormally Dangerous Activities, §520

(1) Existence of high degree of risk

(2) High Likelihood that harm will result

(3) Inability to eliminate risk by exercise of reasonable care

(4) Extent to which activity is not matter of common usage

(5) Inappropriateness of activity in place where it occurs

(6) Extent to which value to community outweighed by danger – social utility
(a) But even if high social utility, does this still mean innocent victim should bear loss?

c) Whether or not activity is abnormally dangerous is one decided by the court, not jury.

d) Liability under Contributing Actions of 3rd parties, §522
(1) One carrying on activity is still liable for harm even though intervening act of 3rd party like innocent, reckless, or neg acts of 3rd party, animals, or forces of natures

e) Assumption of risk, §523

(1) If P participates in activity, he assumes all risk of harm

f) Contributory negligent as defense, §524

(1) Contributory neg of 3rd party not a defense.

(2) But if P knowingly and unreasonably subjects himself to risk, it is a defense

g) Think-skulled victim and strict liability, §524A

(1) If P abnormally sensitive and no harm would have occurred but for sensivitity, no liability

2. Why do we switch from negligence to strict liability?  

a) §520 Asymmetric information – impose loss on person in superior position to do B/PL

(1) On a party that was in position to avoid injury by taking advantage of info that it had and sharing that info to reduce accident costs.

(2) Other party (person blasted) may have no idea of risks or that activity is occurring

(3) Who is in a superior position to determine B/PL?  

(a) The government, the company, the city, etc.  The blasting company is in the best position to be able to insure against the risk, determine the risk, etc.

(b) With strict liability, we want you to use your better position to determine whether or not it is worth doing - decide the activity level yourself since you are in best position to measure and insure against risks.

b) Minimizing loss
(1) Imposing a system which will minimize social losses as a whole.

c) Distributional justice system

(1) How can we best spread losses if one particular activity targets a particular segment of the population, e.g. sewage treatment plants always being built in poor areas, blasting always being done in poor disenfranchised areas, etc.

d) Protecting individual rights

(1) Blasting is an infringement on personal rights - autonomy and enjoyment of property.  P had right to undisturbed possession of property and when two rights conflict, person infringing on rights should yield to the other - it is better that one man should surrender use of property than other should be deprived of use of property altogether if use of blasting eliminates it.  

e) Asymmetricality & Nonreciprocity of risk
(1) Victim has right to recover for injuries caused by risk greater in degree and different in order from those created by victim and imposed on D.

(2) If D creates a risk which exceeds those to which he is reciprocally subject, it is fair to hold him liable for results of his aberrant indulgence.  (airlines being liable for ground damage (home owners don’t crash planes into other homes), but not mid-air collisions (other planes create same risks)).

3. Limitations on Strict Liability
a) Unreasonable Assumption of Risk

(1) When there is some unreasonable assumption of risk on the part of P for exposing himself to known danger.  

b) Not abnormally dangerous activity
c) Scope of Risk

(1) Harm which is direct consequences of risk created by abnormal dangers
(a) If truck carrying explosives runs over pedestrian but does not explode, strict liability is not applied.  

(2) If P abnormally sensitive and no harm would have occurred but for sensivitity, no liability

4. Strict liability as forcing examination of activity itself v. standard of care

a)  Maybe the reasonable standard goes to the activity itself - was it reasonable to construct the reservoir at all - not the actual construction of the reservoir, but whether or not to put it there at all since it was coal country - abandoned mine shafts.  

b) So if you decide to put reservoir where it doesn't belong, but even if you do it in a careful fashion, if you cause injury you will be strictly liable for any injuries that come from it.  Maybe activity should be reduced to zero.

5. Strict liability maxims:

a) You bring things onto your land at your own peril.
b) When event itself has brought about destruction of evidence that could be used in negligence (e.g. oil tanker truck exploding), strict liability can be applied.  

c) It is better that one man should surrender use of property than other should be deprived of use of property altogether

d) Such inherently dangerous activities where there is substantial risk no matter what care is taken then person who engages in activity engages in it to their peril.

e) Impose loss only where risks are unknown to P

(1) Certain situations in which risks are familiar - highways, etc. - and that there are certain techniques (staying on right and driving carefully) that can insure against risk materializing.  P understands everything that is happening - the risks that are available.  Whereas with blasting, the injured P had no idea of risks or what could happen.

B. Case Law
1. Animals/escaping of things off of property

a) √  Fletcher v. Rylands (built reservoir and water escaped into P’s coal mines)
(1) If you bring something onto your land (water), which if it escapes is likely to do mischief, then you are liable for all natural consequences of that thing.  
2. Ultrahazardous activities:

a) √  Spano v. Perini Corp. (blasting to create NY tunnel blows up garage)

(1) Inherently dangerous activity and you engage in it at your own peril.  

b) !  Madsen (mink farming v. blasting)

(1) § 519 endorses Madsen (no liability)

(2) § 522 says that harm can extended from activities of animals.  Mink young could have died from blasting, but instead it occurred through action of animal, but the harm that materialized was the same harm that was imagined from blasting.  

c) ! American Cynamid (train car filled with acrylonitrile which spilled from valve)
(1) Not clear where liability fell – shipper or carrier.  
(2) Accident could have been prevented with due care, but regulation of activity level (re-routing of train, other form of transportation) is not feasible to prevent accident and may even be more dangerous.  If majority of accidents can be prevented with due care, then neg standard should be applied.
(3) Inappropriate activity here could also be classified as living close to a railyard known to contain cars with dangerous chemicals.  

(4) Why not force shippers and carriers to engage in a dialogue about how to minimize consequences.  He says that this difficulty is what gives rise to a negligence system.

d) √  Yukon Equipment (storing explosives in remote storage house)

(1) Incendiary destruction of premises by thieves to cover evidence of theft is not so uncommon an occurrence that it can be regarded as highly extraordinary.

(2) Remoteness of shed not a defense, since harm that resulted was that which was foreseeable.

e) √  Fireworks on fourth of July
(1) First four factors for abnormally dangerous activity satisfied, but was appropriate for place undertaken and had great value to community.  Strict liability held since first four factors applied.

f) √ /! Aviation accidents
(1) Liability only for ground collision, not for mid-air (see reciprocity of risks)

g) √  Transportation of gas on public highway (Siegler)
(1) Gas takes on ultrahazardous qualities when shipped on hghwy since hazard is greatly multiplied.  

(2) Evidence to prove/disprove neg is usually destroyed when it explodes.

h) !  Foster (excavation digging around gas pipeline)

(1) Ordinary transmission of gas is not ultrahazardous, since other principles (res ipsa, stndrd of care) can address concerns.

i) !  Pile driving causes floods in downtown Chicago

(1) Piling driving not common usage, but P failed to prove other elements of ultrahaz.

C. Strict Liability v. Negligence

1. Standard of care

a) Epstein points out that it’s costly to do the BPL math.  Better to have s.l.

b) A system of strict liability with contributory negligence:  

(1) Once D knows that P will not misbehave, D has incentive to choose optimal level of care to minimize sum of his precaution and accident costs.

c) System of negligence without contributory negligence should induce optimal behavior: 

(1) D will take care, even without contributory negligence, the cost of precautions is below that of the anticipated liability.  Once P knows that D will take care, P knows that all prospect of recovery is precluded if he is taking care.  P now has incentive to take optimal level of care.

d) What if optimal standard of care cannot be determined?  

(1) Then negligence standard may actually impose greater care than strict liability, since with negligence standard optimal behavior is more difficult to determine and D may use highest standard since two types of error (spending too little or spending too much on precautions) have much greater disparity in error costs.  

(2) With strict liability, consequences of error are balanced on both sides and margin is little, so D will go for optimal level (mean) level of care.

2. Similar outcomes under both systems

a) Actors will behave the same under strict liability or negligence.  In both cases, individuals try, as long as they have to internalize costs and benefits of activity, they try to reach something like the socially optimal level of activity and behavior.

b) The reasonable calculus keeps coming back to haunt us - even in the case of strict liability, certain reasonable precautions, like notice, could be taken and provide a defense to a strict liability claim.

3. Examples

a) !  Madsen v. East Jordan Irrigation:  (mink farming vs. blasting)

(1) How do you resolve conflict between two legitimate activities?  

(a) Blaster could have no blasted, or mink farmer could have separated mothers from baby minks.  

(b) Separating the mothers from the babies would have been easier - what ought to have happened was communication between the blaster and the farmer.  

(c) How do we force blaster or mink farmer to start conversation?  If we hold either one liable, then either one will be induced to talk to the other to minimize consequences from the activity.

(2) MF, EAC = $100, Blaster, EAC = $110 for alternate means of blasting

(a) A rule that said that blaster is only liable for negligence might have that effect.  This would work if farmer had information about blasting, but it would not work if mink farmer didn't have info about when blaster was going to blast.  

(b) But if this is not the case, then we could look at what would happen if we imposed strict liability on blaster.   Blaster may then be incented to share info with farmer as to when blasting is going to occur so farmer can take accident avoidance precautions, since blaster is not in best position to avoid losses but to provide information that leads others to take AAC.

b) Two competing beneficial activities

(1)        


Activity 1
Activity 2

(2)                    EAC:   
$100          
$100

(3)                    AAC:   
$80             
$110

(a) Activity 1 will be avoided under SL or neg.

(b) Activity 2 will injure under neg and no liability, will injure under SL but liability.

(c) The effects are therefore the same in terms of what steps will actually be taken to avoid or injure.

(d) But we cannot assume that the injuries will always be borne by injurers, since in some cases claims are not brought or claims are lost since lawyers for injurer are better.

(4)                                
Activity 1
Activity 2

(5)                                
Neg     

SL

(6) $ Claims brought     
85       

87                              

(7) Expected Liab.        
78       

82          

(a) Negligence:

(i) In these cases you're not comparing EAC and AAC in neg system, you're comparing expected liability to AAC if you're operating under a negligence system.  So it may mean that even under neg system, you still would engage in activity 1.  

(b) SL:

(i) It may be that SL changes outcome for Activity 1, since costs of bringing suit and proving harm are cheaper in SL system.  This would only work at the marginal cases, but it still might be that SL does a better job of forcing people to internalize costs of activities.  

VII. Products Liability

A. Manufacturing Defects

1. Requirements to prove defectiveness, §743:

a) Defect has to have been there when product left seller's hands.

(1) Cannot have had other repairs done to it after initial sale (Chrysler – electrical fire)

b) Used it in an ordinary manner.  
(1) Product is not defective when it is safe for normal handling and consumption.
(2) Can be used for a period of time and still recover (Dunham)

c) Has to be a seller of goods who is in business of selling that product.

(1) Rule does not require any reliance on part of consumer on reputation or skill of seller.

(2) Does not require any privity between seller and consumer.

d) Has to be defect that makes good unreasonably dangerous - that it was not patent and expected that the defect would occur - that user had expectations that it would not be dangerous in that way.  

(1) Seller may be required to give directions or warning on container in order to prevent from being unreasonably dangerous, e.g. if it contains common allergen or is unavoidably unsafe. 
(2) P need not even specify specific defect – res ipsa application (Halloran, Welge – peanut jar)

2. Limitations

a) If user or consumer discovers defect and is aware of danger and nevertheless proceeds unreasonably to make use and is injured, he is barred from recovery. 
b) Has to stem from ordinary use.  

3. Principles

a) Back to the reasonable person theory - what dangers the reasonable person would expect to occur.    

b) Look at benefits of use of product outweighing the risks - even though it seems like it is right back into negligence system.  

c) Places burden on D to show that defect was not unreasonably dangerous.  So the easy way of demonstrating whether or not it is defective through looking at other product's in manufacturer's line. 

4. Strict liability imposed

a) It does not matter if manu has used reasonable care - strict liability is imposed -  demonstration of non-negligence is immaterial.  

b) Evidence of due care may be somewhat relevant, since P has to show that an injury has occurred and that it did not occur through some other mechanism.  Otherwise the evidence could go to proving some misuse on the part of the D.  

5. Case Law

a) √  Pouncey v. Ford Motor (struck by fan blade while changing engine coolant)

(1) Inclusions in metal of fan blade made it unreasonably dangerous.

(2) Even best quality control program could not prevent some defects.

B. Design Defects

1. When can you recover for design defect?

a) Latency of defect

(1) There can be no recovery if defect is patent.  

b) Injuries flowing from defect

(1) You can only recover for those injuries which were aggravated by defect.

c) Unreasonable design trade-off resulting in defect

(1) Design trade-off made has to have significant deviation from standard B/PL
(2) Manu. are not bound to create the safest product - they can make personal safety devices that have various tradeoffs which allow consumers to choose and do B/PL. 

(3) Compliance with gov’t standards does not exempt from liability under common law.

2. Strict liability v. negligence for design defects (negligence used)
a) Strict liability is not the standard, since designs are always tradeoffs - safety v. function, cost, etc. To prove strict liability, P would have to prove that whole product line should not be out there.  

b) But for negligence, P just has to prove that it could have been designed more safely without ruining objectives of manufacturer.  

c) Strict liability takes on a certain kind of meaningless, since you have to know all the risks of the manufacture along with the risks of alternative design, the utility of the new design and the old design, etc to judge liability.  And this essentially puts you in a negligence system.

d) Cannot measure defect by manufacturing product line as you can with manufacturing defects, since all products will have the problem.  So you have to shift from a strict liability to negligence to truly engage in the B/PL.  Standards may be at odds with each other depending on type of accident - could be large variance in jury verdicts without firm standards to judge unreasonableness in design.

3. Problems with design defect analysis:   

a) Produces inconsistent standards

(1) Manufacturers don't know how the court will determine the trade-offs, so they don't know what B/PL to use to make their design trade-offs.  

b)  Allowance for Consumer choice - B/PL 

(1) Also, consumers will want to do some of the B/PL themselves, buying a lighter car with better gas mileage while sacrificing safety, or buying a larger safer car with worse gas mileage.  Consumers will want to internalize design trade-offs and make the decision, rather than letting juries make ex poste determinations.  Why should juries be in the business of redesigning obvious risks when the market should be able to take care of it.  

c) Polycentricity:  

(1) If steel beams were put in the sides of cars, would that be the only change that you would have to make to the car?  Redesigning part of the car would have implications for the other parts of the car.  You can't change one thing without changing the other.   

(2) Ability for jury to understand what other trade-offs will have to be made results in a battle of the experts with regards to design changes.

d) Moral hazards:  

(1) When people feel safer, by wearing seatbelts or driving in large cars, then they may take more risks that endanger other people.

4. When paternalism and regulation are appropriate.

a) Change in technology - seat-belts.

b) Change in culture:  

(1) Hockey helmets:  new players were wearing helmets, but others were not.  It could instead be explained as cognitive dissonance - inability to tell myself that I have engaged in behavior that is unreasonably dangerous and will thus not take steps to reduce danger.  When the league forces everyone to wear helmets, it overcomes that cognitive dissonance.Latency

5. Duty to warn

a) If you have a risk that materializes with frequency and is serious, then it would be reasonable to warn against it. If consequence is minor and risk low, then warning may not be appropriate or reasonable.

b) You want to protect against over-warning, since warning goes back to reasonableness - goes to negligence.

6. Case Law

a) √  VW v. Young (seat became unattached from floor during rear-end accident)  

(1) Established crash-worthiness test – able to withstand routine crashes and not worsen injur.

(2) Does intended use of car include collision?  

(a) Collisions were reasonably foreseeable.

(b) Had duty to design car to avoid injuries that were reasonably foreseeable from accidents and that would enhance or cause injury.

(c) Many courts have recently given broad interpretation to intended use to include injuries that happen with reasonable frequency.

(d) Purpose of car is for safe transport and reasonable protection.  

(3) Cause of accident should not make difference if design defect ultimately causes injury.

b) !  Linegar v. Armour (bullet proof vest with gaps under arm)

(1) Condition was patent to user

(2) Design tradeoffs made were reasonable - comfort, less sweaty, more flexible, but less coverage.  Judge should not second guess B/PL determination made by consumer in full knowledge of risks and tradeoffs.
(3) Judge applied consumer expectations test - whether consumer could have reasonably expected danger to occur - whether danger was beyond that which would be contemplated by ordinary consumer with ordinary knowledge.
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